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English

Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 100

Instructions:

a)
b)
c
d)
e)

f

10.

Follow the prescribed limit while answering the questions.

Write the correct question number as it appears on the question paper.

One-mark questions attempted more than once will be awarded zero.

All questions including Multiple-Choice questions from section 1 should be answered in the first three pages only.
For Multiple choice questions, choose the correct answer and rewrite it.

Answers to question number 28(a-j) and 29 (i-iii) should be in sequence and at one place.

Answer the following questions by choosing the right option. 12 x 1 =12

(Answer to this section should be in sequence and written on the first three pages of the answer
book)

Juliet associates ‘coming of night” with

a) Rosaline b) Romeo c) Shakespeare d) Lord Montague.
The new item of expenditure noticed by the kinglet in ‘Too Dear” was
a) For the upkeep of the guard

b) for the maintenance of the criminal

c) For the upkeep of both the criminal and the guard

d) none of the above.

Romeo had not seen until he met Juliet.

a) Capulet b) Snowy Dove c) True Beauty d) garish sun
The Government is republican and has no respect for the King.

a) French b) German c) Italian d) Monaco
‘Your children are not your children’ the speaker said this to )

a) children b) parents c) god d) prophet
The dramatic Chipko movement took place in )

a) Adwani b) Doon Valley c¢) Garhwal d) Shantinikethan
“A Sunny Morning” takes place in season.

a) Summer b) Winter c) Autumn d) Spring
Tammanna made a mention of war between and

a) Japan and Brazil b) France and ltaly

c) Russia and America d) Germany and Monaco

“The blind thing walks without respite, never stopping for hour after hour “. Here the ‘blind
thing’ refers to

a) foot b) nails c) shoe d) Toes
Borges was interviewed at the age of

a) 73 b) 83 c) 53 d) 43

The Author of “Decline of the West” is

a) Emily Dickinson b) Homer c) Bernard Shaw d) Spengler
Japan, when mother bows bow too.

a) deer b) babies c) father d) Mother
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11. was a man of high traditional title
a) Maduka b) Markus Ibe c) Roof d) Ogbufie Ezenwa

12. N. Kannammal is a--------- graduate.
a) commerce b) arts c) science d) trained

13. Complete the following by filling the blanks using the right form of the verb given
in brackets. 1x3=3
Arivoli Iyakkam gave social sanction to cycling. Cycling (learn) by neo-literates. Filthy
remarks (make) by many but they paid no attention. Now often a woman
(can, See) with their children to collect water or any other work.

14. Fill in the blanks by choosing appropriate expressions given in the brackets.
(give up, swept across, put up with) 2x1=2
The women in Pudukkottai had to the vicious attacks on their character when they took
to cycling. Still they did not cycling, as they felt that cycling symbolized independence.

15. Fill in the blanks with the right linker given in the brackets.
(but, after, as though, as) 4x1=4
The gardener started narrating the story of Tammanna and Basavaiah to the owner’s wife.

narrating the introductory part, he started fumbling for the words he had made

a mistake. The owner’s wife was not interested in the story. She felt like going away, ,
stayed back she did not want to hurt the old man.

16. Rearrange the jumbled segments to form a meaningful sentence 1x1=1
gave up/ and/ started off/ Tammanna/everything

II. Answer any EIGHT of the following choosing at least two from poetry in a paragraph
of 80-100 words. 8 x4 =32

17. How does Juliet want to immortalize Romeo? Explain.

18. What made the king of Monaco offer the criminal a pension in ‘Too Dear’?

19. How according to Kahlil Gibran, should parents look upon their children?

20. How does Rabindranath Tagore highlight the significance of the forest in his essay ‘Tapovan’?

21. Explain, how Laura taunts Gonzalo and his actions in ‘A Sunny Morning’.

22. ‘When You are Old’ brings out the transient nature of beauty and permanence of love. Explain.

23. Explain Borges’ views on poetry.

24. What is unique about bowing in Japan, as described in ‘Japan and Brazil through a Traveler’s
Eye’?

25. In what different ways does the cycle empower rural women, in ‘Where There is a Wheel’?

26. Write a note on the happenings on the election morning in the story ‘The Voter’.

III. Answer the following in about 200 words: 1x6=6

27. How is the intensity of love between Romeo and Juliet brought out in the poem, ‘Romeo and
Juliet’?

OR
How are literacy and mobility combined to bring out a social change in Pudukkottai, according
to P Sainath, in the article, ‘Where There is a Wheel’?
OR

What are the instances of social discrimination as witnessed by water, as expressed in the poem,
‘Water’?

;
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IV.

28.

29.

Read the following passage and answer the questions set on it.

Amphibians are species that can live on both land and in water. The word ‘amphibian’ literally
means ‘double life’. Frogs and Toads are the members of the amphibian class. Both of them
belong to the order of Annura. Moreover, they also share similarities and differences as well.
They look similar in appearance with short, rigid bodies, wide head, two front arms and two
hind legs.

Many people use the terms interchangeably, which is not correct. We will learn the difference
between frog and toad in order to understand them better. Most importantly, they do share the
same body layout and also jump, but they are different. Frogs come from the Ranidae family
and are associated with aquatic species. Toads come from the Bufonidae family and commonly
associated with terrestrial species. Moreover, these are present all over the world on every
continent except Antarctica. Frogs have moist and smooth skin and teeth in their upper jaw.
Most importantly, their eyes stick out farther than that of a toad. Toads have dry and rough skin.
It has warts all over its body and don’t have any teeth. Frogs live in streams, ponds, lakes whereas
toads are found in fields, forests and gardens. Toads possess excellent defence mechanisms!
When a toad is threatened, it produces a toxic milky substance on its back. This toxic secretion
has a strong smell that causes burning in predators’ eyes. Frogs, however, do not possess these
mechanisms hence have a higher number of predators. This makes frogs more susceptible to
predators than toads.

Answer the following in a word, phrase or a sentence each: 10x 1 =10
a)  Which families do the toads come from?

b)  What is the literal meaning of the word ‘amphibian’?

c¢) In which continent are the mentioned amphibians not found?

d) Mention one of the features to identify the frogs easily.

e)  Where do we find toads?

) Why are the frogs more susceptible to predators?

—

) How do toads react when they are threatened?
h)  What is an amphibian?

w

i) Add a prefix to the word ‘important’ to form its antonym.
)

Toads and frogs look similar in their (appear/appearance).

Read the following lines and answer the questions set on it. 1x3=3
Barefoot, | want to tread red hot paths

That boil in midday sun

And then lie down to sleep beneath a mango tree
And [ want to wake up only

When down there the Whiteman’s siren starts to howl
i) How does the speaker want to tread?

ii)  Where does the speaker want to sleep?

iii) When does the speaker want to wake up?
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V.
30. Report the following conversation: 1x5=5
Don Gonzalo: Have the priests gone yet, Juanito?
Juanito: No, Senor. They are still there.
Don Gonzalo: The authorities should place more benches here for these sunny mornings. I will
sit on the bench with the old lady.
31. Complete the following dialogue 1x4=4
(Conversation at a clinic)
Patient: Excuse me, ? (Seeks permission to get in)
Doctor: . tell me, what is your problem? (responds)
Patient: | am suffering (tells about his illness).
Doctor: Take these tablets for four days.
Patient: (Expressing gratitude and leave taking)
VL
32. Read the following passage and make notes by drawing and filling the boxes given
below: 8x%=4
Kathak is one of the forms of Indian classical dance. The name Kathak is derived from Sanskrit
word ‘Katha’ which means story. This dance form traces its origin to the nomadic bards of
ancient
Northern Indian known as Kathakars or story tellers. There are major schools of Kathak; the
gharanas of Jaipur, Lucknow and Varanasi, born in the courts of the Kachwaha Rajput kings,
the Nawab of Oudh and Varanasi respectively.
Kathak
The name is derived from¢
1
The dance form traces its origins to¢
2
The three major schools are the gharanas of ------------ » Born in the courts of
v v v
3 4 5 v
v v v
6 7 8
33. Write a letter of application in response to the following advertisement which
appeared in ‘The Indian Express’ Dated 25" January 2023 (XXX for name and YYY
for address) 5 Marks
Bapuji Vidyavardhaka Sangha
Requires: Administrators
Qualification: MBA.
Candidates with at least 2 years of experience will be given preference.
Should know English, Hindi and Regional Language.
Computer knowledge is must.
Apply within 7 days to: The Secretary
Bapuji Vidyavardhaka Sangha.
Bagalkot.
:
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34. Imagine that you are the Secretary of your college union. On the college Union Day,
vou are required to introduce the chief guest of the function Mr. Suryanarayana,
District Commissioner of your district. Prepare a speech of about 100 words based
on the points mentioned below: 5 Marks
Name: Mr. Suryanarayana

Native place: Mysore, Karnataka
Education: M.A., B.Ed., IAS 2000 batch
Profile: Appointed as Assistant Commissioner in Hassan, after Probationary transferred to

Bellary, terror to mine mafia, famous for many developmental works mainly-solved-drinking
water problem-now in your district-many developmental projects-inspiration for youth.

OR
The following bar graph represents the pass percentage of boys and girls of a Government Pre-

University College, in second PU annual examination of April 2018. Based on the information,
write a report in about 120 words.
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40

dl NN
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Kannada English History  Economics Sociology Soci.
Science
M Boys M Girls
35. What do the underlined words in the following extract refer to? 4x1=4

Toads are amphibian species.

They (i) come from the Bufonidae family and are associated with terrestrial species commonly
found in fields and forests. Their (ii) body has warts all over and they carry toxic milky substance
which (iii) causes burning in predators eyes. This toxic secretion has a strong smell that (iv) work
as excellent defense mechanisms.

i) they:.......... , i) their:............ , iii) which:........ , iv) that:............

7 7 O/
L GIXEL GIXL G IXL )
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English

Model Paper — 2

Time: 3 hours 15 mins Maximum Marks: 100

Instructions:

a)

Follow the prescribed limit while answering the questions.

b)  Write the correct question number as it appears on the question paper.

¢) One-mark questions attempted more than once will be awarded zero.

d) All questions including Multiple-Choice questions from section 1 should be answered in the first three pages only.
e) For Multiple choice questions, choose the correct answer and rewrite it.

f)  Answers to question number 28(a-j) and 29 (i-iii) should be in sequence and at one place.

I.  Answer the following questions by choosing the right option. 12 x1 =12
(Answer to this section should be in sequence and written on the first three pages of the answer
book)

1. The king of Monaco condemned the criminal to have his ............. Cut off.

a) Hand b) leg c) head d) fingers
2. sees the mark upon the path of the infinite.

a) The poet b) the mother c) the archer d) the father
3.  We are united with nature through our relashionship with the ............

a) Land b) water c) forests d) fire
4. The guard gave Petra ........... for Dona Laura.

a) Violets b) wviolin c) lilies d) lotus

5. “You” in the poem ,,When you are Old” is ...................

a) The speaker b) the old lady c¢) theyounglady d) the other people

6. Basavaiah appointed a number of personsto .................... him.

a) Praise b) tease c) mock d) ridicule
7.  After the defeat in the battle the child’s foot is condemned to live ina ............
a) Room b) shoe c) hall d) hole

8.  The tender sunshine leanson ............................

a) Roaring stream b) rolling surf c) gentle sun d) verdant gardens.

9.\ hwN........ was Maduka’s election symbol.

a) Hand b) head c) ear d) nose
10. InBrazilthelifeof ................................. is becoming more hazardous every day.
a) Pedestrians b) cyclists c) drivers d) passengers

11. Therural womenof............... took to cycling as a means of hitting out their backwardness
a) Puducherry b) Pudukottai c) Arivoli d) Kudimianmalai

12. The panchamas welcomed their ................... bath as if it was a wonderous festival.

a) Weekly b) monthly c) vyearly d) daily
;
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13.

14.

15.

16.

IL.

17.
18.
19.
20.

21.
22.

23.
24.
25.
26.

III.
27.

Complete the following by filling the blanks using the right form of the verb given

in brackets. 1x3=3
Poetry is something so intimate and essential. It (cannot, define) without
oversimplifying it. Mere arrangement of words (cannot call) poetry. Just as the fall of
leaves in the autumn __ (cannot explain), poetry is difficult to explain.

Fill in the blanks by choosing appropriate expressions given in the brackets.

(at play, grow into, put behind) 2x1=2
According to Cullinan, apartheid in South Africa was . But nobody knew that a wider
and deeper eco-apartheid would come in its place and a problem that would create

another kind of separatism.

Fill in the blanks with the right linker given in the brackets.

(more over, as, even then, but) 4x1=4

Cycling made women independent it reduced their dependence on men.
it gave them a sense of freedom. they had to put up with vicious attacks

on their character. all women in Pudukottai learnt cycling.

Rearrange the jumbled segments to form a meaningful sentence 1x1=1
Imagination/ the book/ and memory/ is an / of our/ extension.

Answer any EIGHT of the following choosing at least two from poetry in a
paragraph of 80-100 words. 8 x4 =32
Feelings of Romeo and Juliet for each other are expressed with intensity. Discuss.

What made the king of Monaco alter his decisions in dealing with the criminal in ‘Too Dear!’?
Write a note on ‘Navdanya Farm’ and ‘Navdanya Movement’.

How do Laura and Gonzalo claim to have pined for each other after their separation in ‘A Sunny
Morning’?

What does the speaker in ‘When You Are Old’ suggest to his beloved to reflect upon?

Explain the instances that make the child’s foot aware of the obstacles and hardships in ‘To the
Foot From its Child’.

Explain how the people of Japan respect each other’s privacy according to George Mikes.
Explain the change that had come into the thinking of Umuofia in ‘The Voter’.
How did the women react to the shortage of ladies’ cycles according to P. Sainath?

Describe the many things that the speaker remembers when she sees water in ‘Water’.

Answer the following in about 200 words: 1x6=6
One’s experience is one’s resource. How does Borges expound his views on this?

OR
A humble vehicle can be a tool for women’s empowerment. Discuss.
OR

Water that ignites struggles and strife can also be a market commodity. Examine the statement
in the light of ‘Water’.

Courses offered @ ASC: B.Com / BBA / BCA 9
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IV.

28.

29.

Read the following passage and answer the questions set on it.

Long before there were restaurants, there were taverns where people gathered to talk, have
something to drink and perhaps something to eat.

In London there was another kind of place that was also the forerunner of the restaurant. This
was the ‘Cook Shop’. The chief business of these Cook Shops was sale of cooked meals on the
premises and was somewhat like a restaurant. There were Cook Shops in London as long back
as the 12" Century.

The first place where a meal was provided every day at a fixed place was the tavern in England.
They often became ‘dining clubs’ and these existed in the 15" Century. By the middle of the
16™ Century, many town people of all classes had got into the habit of dining out in the taverns.
Most of the taverns offered a good meal for a shilling or less, with wine and ale as extras. Many
taverns became meeting places of the leading people of the day. Shakespeare used to be a
regular customer of the Mermaid tavern in London.

About 1650, coffee-houses also sprang up in England. They served coffee and tea and
chocolate, which were all new drinks at that time. Sometimes they served meals too. In 1765, a
man named Boulanger opened a place in Paris which served meals and light refreshments, and
he called his place a ‘restaurant’. This was the first time this word was used. It was a great success
and many other places like it soon opened.

In a short time, all over France, there were similar eating places called restaurants. But the word
‘restaurant’ was not used till the end of the 19" Century.

In the United States, the first restaurant of which there are records was the Blue Anchor Tavern
in Philadelphia which opened in 1683.

Answer the following in a word, phrase or a sentence each: 10x 1 =10
Where did people gather to drink before restaurants came into existence?

What did the Cook Shops sell?

When did dining places come into existence?

Which tavern did Shakespeare often visit?

When did coffee-houses come into existence in England?

Pick out the word which means ‘identical’ in the passage and write it.

Who introduced the word ‘restaurant’ for the first time?

S@e e a0 oo

Use the appropriate prefix to the word ‘regular’, to form its antonym.
Blue Anchor Tavernisin ........................
a) Paris. b)  Philadelphia. c) France.

—

j. Restaurants became ................ in the 20™ Century. (successful / success)

Read the following lines and answer the questions set on it. 1x3=3
At the corner of Wood Street, when daylight appears,

Hangs a thrush that sings loud,

it has sung for three years:

Poor Susan has passed by the spot,

and has heard In the silence of morning

the song of the Bird.

i) Where does Susan come across the thrush?
ii)  How long has the thrush been singing?

iii) When has Susan heard the song of the bird?

10
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V.

30.

31.

VL.
32.

Report the following conversation: 1x5=5
Alifano : What is your first literary reading?

Borges : My first reading is Grimm’s Fairy tales in an English version.
Alifano : Where did you read it?

Borges : [ read it in my father’s library. It taught me more than any high school.

Complete the following dialogue 1x4=4
(Two strangers on the road)

Salim : Is there a medical store nearby? (Starting conversation)

Sharat : Yes, there is one right across the street.

Salim : How (Asking for distance)
Sharat : (Giving information)
Salim : (Expressing gratitude)

Read the following passage and make notes by drawing and filling the boxes given
below: 8x1%=4
Bacteria are the most plentiful living organisms on the planet. They are also the smallest
organisms consisting of a simple single cell. A few types of bacteria, often called germs, cause
disease in humans. But most bacteria are harmless and some are very useful. These are used in
making food and drugs. Though bacteria live everywhere it is said that it cannot live inside our
brain and kidneys and also on our teeth.

Smallest living organisms
1

Consisting of

a few types called most harmless used in

' '

¢ 5 6
causes
4

v
cannot lives inside our brain and also on

7 8
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33. Write a letter of application in response to the following advertisement which

34.

35.

appeared in ‘The Indian Express’ dated 15 December, 2017.
(Write XXX for name and YYY for address.) 5 Marks

Wanted First Division Assistants
Qualifications: B.Com. Should know both Kannada and English typewriting.
A Good knowledge of computer is required.
Apply immediately to
The Manager
Laxmi Finance Company
No. 166, Chennamma Circle
Belagavi — 583421

Imagine that you have been invited by a local science club to speak on superstitions.
Prepare a speech in about 100 words on the basis of the points given below.

5 Marks
Traditional beliefs — irrational feeble minds — fear — ignorance - illiteracy — lack of scientific
attitude — Common beliefs — cat crossing one’s path — presence of owls in the courtyard. —
Measures to eradicate — scientific clarifications — creating awareness — literacy drive

OR

A survey was conducted on software job locations in India and the results are shown in the
following pie chart. Using the data, write a report in about 120 words.

W Bangalore W Delhi ®mMumbai ®mAhmedabad mChennai mHyderabad

What do the underlined words in the following extract refer to? 4x1=4
Dining places provided meals every day at a fixed place. These were started in the 15™ Century.
By the middle of the 16™ century, town people made it a habit to dine out. They paid a shilling,
which was quite affordable. Many taverns became the meeting places of leading people.
Shakespeare, who lived in London, was a regular customer of Mermaid tavern.

These : ............... They : ..o which @ ................ who: ...

R/ R/ /
05 448 05D 40 65D 40 o5

12
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. 1L RO 20BOWDO. 1x5=5
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) RITT 2) B oW
Q)  ©. Oo. 23¢0T 3) NTONS LT3
83)  [OMEOT 4) noéod T
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13.
14.
15.
16.
17.

18.
19.

20.

21.

22.

23.

24.

25.

26.

III

217.

28.

29.

30.
31

32.
33.

IV

34.
35.
36.
37.

38.
39.

40.

[CEALALY
®.  3INI O, BINRIR AT DR IR WSOR :
BOONTT YT, PEO Terk DPATH?

035001 a@m@d@%& NTIREADY? 037

30T Ioan @s@%%@@gp Wi 3en9

BOE DBOT ReenBoITVE?

BWONG IMHT I OTIOTR?

BINT R agé&ﬁ@ﬁ RATBY IR miiédg YV30A :
e300y wIdonAIR DJoH ZD%Smﬁémsﬁégo?
LI/ DT BRTELD meﬂﬁd@s éeﬁ?&?
WJRCTI TZ TEPOTD FePED FTTLOWCI9
BReNNY TONL TP, SPRTHT BT, D0TTW?

BENS Tow), TBROR HTB DD R IO :
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REATAD] o
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=)
2NT0 Feg FBIe.... BRYTOZF ONT®

&ﬁﬁ@a‘n‘% LORT DDITBRYM.
B0VVT IIF 300 BBONLIER.

BPNT AR 20T mséw?n& PO ROWPF ARV mddxé 2T0N0:
D0y TOTPeANPOW OB/ WIS,

wéiﬁo:% Um@) cirazécb.

BN OIOR)TOTWTIR 20T mi%wm& 30D FoWPE RNRWY TSR, T0N0:

I3
IV BT IBT IR B0
TRTABEONOT DT JRETF STR).

B3-Pon
®.  3INI ITB JJNRON VT WINRYY YOBOR :
w@@oﬁﬁ@pﬁa DUEINYYT STONBeD?
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wIOon ol @mgsm mwsms& TRORT QT TOTLITCN?
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4x2=8

3x2=6

4x2=8

2x3=6

1x3=3

1x3=3

2x4=8

1x4=4
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[ BINT 20T TIR 0T [eERYY VB0 : 1x4=4
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7€ o e 71 TOIfT & nfasmr & o 9% o ARER qEat & 98 A o W/ B
TEe <A iR faEed 3 Wil % U T Bl S qoUr well & o & gd
q&al T |IE HET IS i i@ Xt a1 7 ol 3fsToher |remor feufd & qeaanred
T ¥t grofa ot €, Sa+t St Fweft U T qEas il oA B o ST it off)
YT & T §9R F § 0+ 9 T2t T@d 9 YT S | G 9yl o
Uy 9% It Fufd @ eme <2 & e Ragt ol I sich IR ST i o

i AR & wreE ¥ g T 3T Ayt 27

. o )
1. Ydnleld [enHaonl wldl—lldl {dle %‘?

iii. Uger JEAeT foh—fohe TNl WX g3 i &7
iv. QU 999 ¥ qEa W 1fes =g &l giar o912
v. Q& 9 TR0 YR @ o T U 272

48. 3) R=<r & erqare HifAw: 5x1=5

i. I spend lot of money on books yesterday
R Iy, TIBNAYMN WIY DWF INET.

ii.  The security of our nation is our responsibility.
Be3T B0 3,90 53?%@?\8.

iii. He was respected by everyone.
DYTR B[IJY FO03FTOWOT FoeDSTITY.

iv. Human being is the finest creation of God.
BRTVED Be[T BRI FQ0ITNTYS.

v. Human wants are unlimited but resources are limited.
ms@s SARYR Wé Y 8TT TF 88 RO &raeri@ﬁ N Y.

/7 /7 J/
LSRN GIXL S IXL )
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Time: 3 hours 15 mins

Maximum Marks: 100

Instructions:

1. SIUGPM™ A, B, C,D Sfd 9dR: UNT: I |
2. A FAURTRT g SRTIOT YR U U9 d@-TA | SRV GARTEad = Yaq |

PART A
. SreffAfEEHT gyY=RY SWRIT SIg®Tq Sgyw forad | 5x1=5
I ST AT o O g 2 { PUe, RIS, STad }
2. famwfeasyi o1 Hyaf 2 { qRiferT, =i, TeTer )
3. dTol: afore: T fhHde S 2 { HeomfH, rereiy, fiyemiy )
4. fafdmn R uyaw sfa & aefa 2 ( T, e, fOridar
5. IUTYATY: IR AW 3SR 2 { P, BdTS, YIS |
1. HSouTa: o U e = qaq | 5x1=5
6. WU [hfeqyhqD .................. |
7. Rigad..... |
8.  YATERINTRa: 3(dd .............. |
9. QARG TURET: T ST |
10. DHYIRERMAN: U B ................. Haq |
foram:, Fdfodadt, TueRigy, 41, IR Aq
L 11. SaeEd | 5x1=5
3 3

TSl IqTH

o QTUTIB'JﬂT:

foren EE]

A TeIeAY
»
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21.

VI
22.
23.
24.
25.
26.
27.
28.

VII.

29.
30.
31.
32.
33.
34.

THATRI ASHaUTHIT 3 forad | 5x1=5

Y@t ugr snfsre wgf~afoi goa | (aguida) 4% 1=4
FRIITRIOT 7 g6 =1 &7 |
AcTRIT: IO TS =T W |
HTad: Frad STARI |
e Geiiet: Zar i |
YdTSTdh: HIHIRNT: S T I |
YAl
o=l FdiAmeH wdad |

PART B
& aT: T d-FAS-SATGTAUTIAT a1 IR | (TFa ) 5% 2=10
eI AT forad |
TRATRY: S: 0&: fohH Jer:2
FH-aTfawy uRare afret: gt i aafa 2
e ayfY g $4 U¢ Ha 2
H0f T IRYRMECR ferad 2
RECEERAER
QTR UTEThH: |
TS SfeTeT &: & Uhy sraad sfa SxpaHTeal Rad | @quitae) 4x2=8
< fasrg anfd afe=Ry |
JuUHl fg GRY U1 Fadrg |
g W dH SEH 31 |
T S TSI 2
HdqdUe Ud X&{ThddH |
: TAGATY Had HIats| 3Hded Uq |
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VIIL T3 3RS TIpTH SJAIE SAS-ASTAHTTAT a1 B3 | (FUIR4)
35.

36.
37.
38.
IX.
39.
40.
41.
42.
43.
44.

45.
46.

47.
48.

49.

50.
51.

52.

PART C

HRARTY TG AGHIAN YT |
JEETARAE AR T TRERA |l
ST T Y e T gy |
ﬁ?mé:ra‘réﬁ I g gaaqy |

Wﬂmmﬂmwﬁr I

GG JIPpd-HAs- ST TAHTYIT 971 3R d | (T=IHT )
fasmraTfe g RIYSHRIU! gufad |

Udisia: |

T |

HERTUTIATU ST HTUHRT|
QUS- AR aa): TRYHdIa: |
iR ey faaramafa: |

RIUY YR HY FiofaH 2

Trietor Rty |

PART D
YIS Fod | (Youm )

IR favera /4 /9 1(FAmRY )

STz, SMTerdd™, Ry, T + 3ifd, Pefg: + g
fAueared v forad | (FUmHT )

war, fdf<g:, axarmor:, e srad, IR 3M4 3

forg-favfea-aemnfa foraa | (gaika )
TR, J&e, faem, R

AP R-YY-ga-T forad | (gaikd)
Y, Yddq, AT | U=y,
UeuiNad $¥d | (FAT0MHT )
YT, URET, Uldy:, HIqH
T ufadad |
I: AR BT |

3ryar
Ay o/ ygufdas |

5x5=25

4x3=12
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53. AR AT A= |
GG AYDRIG SMTHSIHTUT |
SYdr
TR EUSAd okt Hafd digeH |
54. PASHIYYT - TS AHTYT dT 3Jdad | 5x1=5
TSR R UeTd BT HTST FaRTH SUgeT 3 St §84: TANT: Sk | {3y gear:
TS T TAH UfeeT: | fay o] SRepaia S1fdds aTAes add | 31d: TF 0 fhd Tpay
Tq APHTST HiagH e srer wrad: saforay |
55. HEPAHTYAT 3Jdqd | 5 Marks
D00060d) Mo BRTOT. D Temewod, Ted, d@ D) RN (Fees)
D)RTDNG. VWD VIV FIESIINONPARODD. VW 2033 FAG ddrezyJY. Be3T v
rinPod VI VO WDBD. B RoMeIDDY TYS S8 IZFBFI FIEIID, SBWD
3D, BT, TBESTIANSOWD JIDID.
Varanasi is on the banks of the river Ganga. It is famous for its temple, silk and Ghats. It is one of the
most ancient cities. It is a famous pilgrim centre in India. People from all parts of the country visit
this place. They take bath in the river Ganga, having visited the Vishwanatha temple. They feel
that there is fulfilled.
56. (3) 3H Ufvwdd ufSar Ty SwRIOT forad | 5% 1=5

QU SREA™T TR AW TSN STE | Thal §: RN S Uood | ded §: Fene e | 36
foawe Fea, domg: TeNgY UEdd |  UMdlet Al dF d9: Had: SiUeH: THY TIUdEN | aAEe
feasma: R wﬁr@qv—d TSRS | T T g, m(——r@aﬁgﬁw ?ralmgﬁm
JarRes: 31HvaA | 91 St gf: ﬁ%d-«-uvqaﬁaqm TEhdaN | 31d:; SISl gaf eifaard fRafd

= 7wt 3fi |
e -

T AH ST FA I 2
ST &R: foh e Toed ?
TRE I h: SUedd ?
FiUar g: foh 3@ 2
3fct: FT: fdb aaf= 2

STYdT

(31T) TRIBYHIRIS Ul TRABUTOMY Sfae-u3 forad |

R/ R/ /
05 448 05D 40 65 40 o5

32

Courses offered @ ASC: B.Com / BBA / BCA



I PUC Model Question Paper for March - 2023 AS ‘

Annual Examination _
Committe dto Excellence

Sanskrit

Model Paper — 2
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Instructions:

1. SIUGPM™ A, B, C,D Sfd 9dR: UNT: I |
2. A FAURTRT g SRTIOT YR U U9 d@-TA | SRV GARTEad = Yaq |

PART A
. SreffAfEEHT gyY=RY SWRIT SIg®Tq Sgyw forad | 5x1=5
1. & W i =Ad 2 {HUa: | A, g )

2. fawarfee: w4 drm=R ffa: { TSN T, f&HANTT , AR }

3. XTOYH: HooWAT: 3f: & et 2 { AR, Ufarui, o= )

4. WA Afehar BT 2 { T, g, fordiar |

5. TUMYATIR YESIHTH 3AT: & 2 { IGuRE:, HTHTE:, JAUTEHR: }

11. THSo[uTa: ad U farar Reawir= grad | 5x1=5
6. TG TR ......... |

7. BHISUREH AUMYAT ......... 3fgad |

8. . HH TP |

9. 3EHR ... ™ Ul |

10. fa=m........ & |

L 11. SaeEd | 5X1=5
3 3T
TRITE: BIEECIFIIR]
B: gIGR
el PHTHALT:
foree: GIRE
gfigre Y
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V. THATRH SEpaHTyar 3wk forad | 5x1=5
12.  HeI8dl E1g $F TS 2

13. <P =M $F B BRAM 2

14, TRI: STATE HU: $F FHawmEfd 2

15. fcer fdb 3gad 2

16. HURIRAUTH HeATUHY ThHw A forad |

v. @it ugr snfie wyfmfei goa | (aguiiaa) 4x 1=4
17.  GAfIpT HISRTS! Ufct 3rsfaid |
18. Aare’ 3fd Rd IoRAM URIGHRI |
19. ST UG ATGH ST |
20. ST A Vit A fagf=y |
21, URge B dadl IadaM |
3{yaT
21, fom=ieH Hdmera wde |

PART - B
vi. &3 9 S-S AS- S HTYAT a1 39 | (TaRd ) 5% 2=10
22, TRIVHRA Ifcaraan dtfesmor s 2
23, fafra: ver: faspmnad b geafa
24, ISTGA: Too[Ni UTed fob ahrifel 2
25.  TEIYdrT: 9y dia- &Y UE Haq 2
26. TIRST: dic: fb B 2
27. ®: fend w@veg: 2
28. AP AIATANY JMRA0T SHHUT: |

VI UTSTH Sferer &: & UfY 3raeq sfa dwpauryar fred | @quitaa) 4x2=8
29. I HHD AT Ye |

30. SR, ST gEaHTHA U=afd |

31 AH S UYd o+ faerd |

32, YUIY af¢ pdgaH, dId HUTH |

33. Telichadi da: |

34, TRtemd 3alsf gHaTaeTer: fawd |
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PART - C

VIIL 9T 3T TAIBHH SATE HAS-ATSTAUTIIT 91 Fod | (§IRT) 2x3=6
35. 3 g Uy gIoITREA: |

YIS T8 g giulsd GRAuNTRTd ||
36. DI TUT A WIS YFRDID |

Sffafrsrfadd = faemdf g1y aeiaq 1|
37. YIS THATgEH e R TG |

o1 g TS ATegTed T 7H ||
38. oot df 9 T adared e |

Dol IS A IR aFRA=R ||

X. SRIATH: RPd-PAS-MSTAUTIIT 1 ST | (T=HRT ) 5x5=25
39. RO YRd H Ffvfae 2

40. Taspmfea™d gHTaT M1er: &Y gfkafdd: 2

41, YTS: |

42,  YTHTRIE rerHfad: |

43. QUSSR THq forad |

44, MIERAT UG femara=afa: |

45. GO AU Hod |

46. To=nRAT o HORNRAT T |

PART -D

X. GYTGRI Fod | (U ) 4x3=12
47. iR fIveIa / 9 <gd | ((F9OmHY)

STedTed, Wed=g3 , G , gl + 3, IR + U
48. faugareiawwus forad | (FOMHT )

SREIT: , AUIY:, TRIIe: , RT: Ua fauet: , 3ef s
49. forg-faufea-g=n= foraa | (gaika)

dlﬂl,w,ddﬂlq,w
50. APR-YSY-aI=1 e | (galRa)
51. UGUINTd $od | (FTAUMHT)
52. WO uf¥adad |

&al: SFH T |

3yar
a1 fhtaq smaRkdd |
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53. AR gaeui fAfd=m |

AT WPl FfHATG Gra: |

3ryar
T AU fhearRig gugu=TuN |

54. PASHIYYT - TS THTIIT dT Jded | 5x1=5

5s.

56.

IS AT HRTH MTa=ge! | i Wfad: defd | Ieam: I | 3RIG SId | 74: faeafa
| SiaicTe: Tod | ThdivTE: IR | 35 fowR Tefa, om: @ WS Udyverud<d
JRNaaaIty: pifsaafd Iufewi |

HEPAHTIAT 3qdqd | 5x1=5
TIOEIDTRRY, FoBOIT Faderdeabad 33 3B BN IF,IDeTBTB MesedmD LB .

Jo23t  WRT30eT BT BCDDT). BN BB ToIrSoly  DBD. W[
DIEB00R. VTS TIBIY) F0D. VBT FeDITBHOR JeTT). ROSH BEDOWBY, TRODZTR
BT DZeIFLRY, SeWDBIN. 20BH IDIBAET !

Kartikeya, the destroyer of demon Taraka, is the younger son of Lord Shiva. Ganesha, the remover
of the obstacles is His elder son. Kubera, the lord of wealth is His friend. Parvathi, the mother of
Universe is His wife. Parvatharaja, the king of mountains is His father-in-law. Nandi is His vehicle.
Virabhadra is His chief of army. In spite of all this lord Shiva begs. What a destiny!

(3 &8 u=de ufSwar wym=ny Iwifor ferad | 5x1=5
THia: AT SUSTRUN | T8 g a1 JMyad: Ta: | 91 fafaeeoor s smifa e
Yhcdid | URIG: Y& TGdd: I ol: Ud ST | ARTRI: SR8 SiHT: Ud 31y urgdi-= | |1
THAGRYN Hadd ARE §agH U T BRI | G Tt = TR 3| W el T
fafaer: siiwea: WeHen GRS = Upd: Td [HT A1 g FEH Ta Td: Aee: Jdu IusR
PRI, TR 3HY=: 3T S+: pasidl [derd ayfdd g Tsid, fafau™ &y 7 sryafd | =
My G rHfal A afE U Ufigpe el = SR 3f |

UHT: -

HIW: e DT AHA: G: 2
BT YIHTH SUBR BRI 2
Hﬂ@:ﬂ’s’m: Eﬁ%’-‘{[: IdY: 2
Hﬁ:ﬂ?{:ﬂmzﬁ?{?
Wzmﬂﬁm?

STYdT

(31T) GEIBYBTRIH Ul Y&ih UV HTdeu3 ferad |

R/ R/ K/
OG5 448 05D 40 65D 40 o5
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Accountancy

Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 100

Instructions:
1. The question paper contains four parts A, B, C and D. Part-A consists of four sections I, II, Ill and IV.
2. Provide working notes wherever necessary.
3. 15 minutes extra has been allotted for candidates to read the questions.
4. Figures in the right hand margin indicate full marks.

II.

10.

Part - A
Choose the correct answer from the choices given: 5x1=5
Honorarium is treated as
a) Revenue Expenditure b) Revenue Receipt
c) Capital Expenditure d) Capital Receipt

Which of the following are contents of the partnership deed?
a) Capital Contributed by partners b) Rate of interest on capital

c) Profit sharing ratio d) All of the above

Maximum number of members in a private company is

a) 40 b) 25 c) 70 d) None of the above
Debentures are recorded under the head

a) Share holders’ Funds b) Non-Current Asset

c) Non-Current Liabilities d) Current Liabilities

Common size analysis is also called as

a) Dynamic Analysis b) Component percentage statement

c) Diagonal Analysis d) Static Analysis

Fill in the blanks by choosing the appropriate answers from those given in the
brackets. 5x1=5
(Investing, Executor, Unlimited, Common Seal, Statement of Profit or loss)

The Liability of a partnership firm is _____Liability if the personal assets
of the partners are brought in for business dues.

The legal representative of the dead partner is called as

The official signature of the company is called as o . It is put on the
face of all major legal documents and contracts entered by the company.

_____is prepared to ascertain the profitability position of the company.
Interest on investments received is an example for activity.
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III. Match the following: 5x1=5

11. A B
a) Summary of Cash Book i) Intangible Asset
b) Partnership deed ii) Receipts and Payments Account
c) Debentures iii) Written Agreement
d) Securities Premium Account iv) Instruments of Debt
e) Goodwill v)  Reserves and Surpluses

IV. Answer the following questions in ONE word or ONE sentence each:

5x1=5

12. Mention any one example for Not for Profit Organization.

13. State any one feature of partnership.

14. Expand EPS.

15. A company can issue its shares only at par. (State True / False)

16. Give one example for cash outflow from operating activity.

Part - B

V. Answer any FIVE of the following questions, each question carries
TWO marks. 5x2=10

17. Mention any two differences between receipts and payments account and income
and expenditure account.

18. State any two features of Partnership.

19. Why should a new partner bring cash in the form of goodwill?

20. Give the journal entry for realisation expenses paid at the time of dissolution of
the partnership firm.

21. State the two types of shares that a public company can issue.

22. Mention any two uses of the financial statements.

23. Give any two examples of Non-Current Liabilities.

24. Mention the methods of computing cash flow from operating activity.

Part - C

VI. Answer any FOUR of the following questions, each question carries
SIX marks. 4 x6 =24

25. Suraj and Neeraj are partners who share profits and losses in the ratio of 3:7. Their
opening capitals on 01 April 2021 were ¥ 45,000 and ¥ 1,20,000. For the year
ended 31° March 2021 they earned a profits of ¥ 75,000 before accounting the
following:

a) Interest on capitals of Suraj and Neeraj @10% p.a.

b) Annual Commission to Neeraj ¥ 5,500.

c) Monthly Salary to Suraj ¥ 500 and to Neeraj ¥ 1,000.

d) Drawings of Suraj and Neeraj amounted to ¥ 20,000 each.
Prepare Profit and Loss Appropriation Account.

26. Arun, Varun and Tarun are partners sharing the profits and losses in the ratio of
3:2:7. Tarun retired from the partnership firm and Arun and Varun continue to be
equal partners.

What will be the Gain Ratio for Arun and Varun.
=
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27. Sunder, Inder and Chander are equal partners. Their capitals on 31° March 2021
were X 1,20,000 each. On 01/01/2022 Inder died. His executors are entitled for the
following:

a) Inder’s Capital.

b) Inder’s share in reserves, the total reserves of the firm is ¥ 18,000.

c) Inder is entitled for an annual commission of ¥ 24,000 from the firm.

d) Inder is also entitled for a interest on capital at 6% p.a.

e) During the intervening period Inder had withdrawn ¥ 9,000 for personal use.

f)  Inder’s share in current year’s profits based on the profits of the last year and
the profits of the year ended 31° March 2021 was % 36,000.

Prepare Indre’s Executors account.

28. Good Company limited issued 1,200, 8% Debentures of ¥ 100 each at a premium

of 20%.

T 28 received on application

% 68 on allotment including the premium and Balance in the first and final call.

All the debentures were subscribed and the money was received in all the stages.
Pass necessary journal entries from the above information in the books of the
company.

29. Joyful company provides the following information for the year ended 31* March
2021. Prepare a statement of profit or loss.

Particulars Amount ()
Sales 15,20,000
Return Inwards 10,000
Purchases 8,10,000
Return Outwards 20,000
Interest on Debentures 75,000
Machinery 1,00,000
Goodwill 50,000
Bad Debts 5,000
Share Capital 20,00,000

Additional Information

a) Reduce Machinery by 10% and 1/10" of Goodwill is written off.
b) Directors propose a dividend of 10%.
30. The following information is given by Super Company ltd. Compute Current Ratio
and Quick Ratio.
Particulars Amount () Particulars Amount ()
Bills Payable 75,000 | Debtors 1,25,000
Stock 55,000 | Bank Overdraft 30,000
Advance Tax 12,000 | Creditors 55,000
Prepaid Wages 10,000 | Cash 40,000
31. From the following accounting information provided by Razor Company.

Compute cash flow from financing activities.

Particulars 31.03.2020 %) | 31.03.2021 )

Preference share Capital 18,00,000 15,00,000
Debentures 12,00,000 15,00,000

Additional Information

a) Dividend paid on preference share capital is ¥ 1,80,000.

b) Interest on investments received ¥ 1,50,000.

c) Debenture interest paid is ¥ 1,20,000.

d) During the year debentures X 8,00,000 were redeemed.

»
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Part - D

VII. Answer any THREE of the following questions, each question carries
TWELVE marks. 3 x12 =36
32. The following is the information of SS Sports Cub, Prepare Final Accounts
Balance Sheet as on 31/03/2020

Liabilities Amount (%) Assets Amount ()

Capital Fund 50,000 | Cash 2,000

Outstanding Salary 3,000 | Buildings 20,000

Sports Materials 30,000

O/S Subscriptions 1,000

53,000 53,000

Receipts and Payments account for the Year ended 31/03/2021
Dr. Cr.

Receipts Amount () Payments Amount ()
To Balance b/d 2,000 | By Sports Materials Purchase 80,000
To Subscriptions 90,000 | By Salary 21,000
To Donations 40,000 | By Office Expenses 8,000
To Legacies 10,000 | By Tournament Expenses 6,000
To Life Membership Fees 3,00,000 | By Prizes 4,000
To Sale of Old Newspapers 1,000 | By Rent 10,000
To Other Income 7,000 | By Investments 60,000
By Balance c¢/d 2,61,000
4,50,000 4,50,000

Additional information
a) Depreciate Buildings by 10%.
b) Capitalize Y2 of donations.

¢) Following are outstanding for 2016 — 17 : Salary ¥ 4,000 and Subscriptions
¥ 5,000.

d) Subscriptions received in advance is ¥ 1,000.
Prepare: Income and Expenditure Account and Balance sheet as on 31/3/21.

33. A and B are partners sharing Profits and Losses in the ratio of 3:2. On 31-3-21 the
following is their balance sheet.

Balance Sheet as on 31.03.2021

Liabilities Amount () Assets Amount ()
Creditors 20,000 | Cash 5,000
Bills Payable 6,000 | Debtors 20,000
Reserve fund 4,000 | Less: PBD 2,000 18,000
Capitals: Stock 17,000
A’s 40,000 Buildings 30,000
B’s 30.000 70,000 | Furniture 10,000

Machinery 20,000
1,00,000 1,00,000
o
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34.

35.

36.

C is admitted on the above date, he brings ¥ 25,000 cash for capital and ¥ 8,000 for
goodwill for ¥ share in future profits. Half of the goodwill is drawn. (As per AS — 26)

a) Depreciate machinery by 10% and Furniture by 5%.
b) PBD is maintained at 10% on debtors.

c¢) Appreciate buildings by 20%.

d) Provide for legal charges I 500.

Prepare Revaluation account, Combined Partners Capital accounts and
the newbalance sheet.

X and Y share profits and losses equally. They decide to close the firm and the
following is the balance sheet on 31-12-2001
Liabilities Amount (%) Assets Amount ()
Creditors 50,000 | Cash 15,000
Bills payable 10,000 | Stock 30,000
Y’s loan 25,000 | Debtors 45,000
Reserves 15,000 | Less: PBD 3.000 42.000
Capital Accounts: Bills Receivable 10,000
X 60,000 Motor car 18,000
Y 80,000 1,40,000 | Investments 10,000
Furniture 15,000
Machinery 25,000
Buildings 63,000
Profit and Loss account 12,000
2,40,000 2,40,000
i) Assets realised as follows:
Stock ¥ 26,000, Debtors ¥ 41,000, Motor car ¥ 19,000, Investments ¥ 18,000,
Furniture ¥ 18,000 and Buildings ¥ 71,000
ii) Y takes over Bills Receivable for ¥ 8,000.
iii) Creditors were settled at 10% discount.
iv) Realisation expenses amounted to ¥ 5,000.
Prepare Realisation account, Partners Capital account & Cash Account.
Anuradha Company limited issued 30,000 Equity shares of ¥ 10 each at a

premium of 20%. The company received T 3 on application, ¥ 5 on allotment with

premium and the balance in the first and final call.

All the shares were subscribed and money was received in all the stages except on

1,000 shares for which the allotment money and call money was not received.

These1,000 shares were forfeited and reissued at ¥ 9 each.

Draft the journal entries related to the above information.

From the following information, draft necessary journal entries for each of the

following cases

a) Issue of 750, 9% Debentures of ¥ 100 each at 10% premium and redeemed
at par.

b) Issue of 750, 9% Debentures of ¥ 100 each at par and redeemed at 20%
premium.

c) Issue of 750, 9% Debentures of ¥ 100 each at 20% premium and redeemed
at 10% premium.

d) Issue of 750, 9% Debentures of ¥ 100 each at 10% discount and redeemed
at 10% premium.
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37. The following is the balance sheet of TNAPKA company as on 31* March 2021 and
31 March 2022.

Particulars 31.03.2021 %) | 31.03.2022 )
Share Capital 1,11,000 5,50,000
Reserve Fund 69,000 80,000
Public Deposits 21,000 41,000
Trade Payables 89,000 99,000
Total 2,90,000 7,70,000
Machinery 1,00,000 5,10,000
Motor Car 80,000 1,30,000
Trade Receivables 30,000 40,000
Other Current Assets 80,000 90,000
Total 2,90,000 7,70,000

Prepare a Comparative Balance Sheet.

38. The following is the Trading and P and L account of a company for the year ending

31.3.2018
Dr. Cr.
Particulars ) Particulars (%)
To Opening inventory 22,000 | By Sales 2,00,000
To Purchases 1,23,000 | By Closing Stock 6,000
To Wages 11,000
To Gross Profit 50,000
2,06,000 2,06,000
To Office Expenses 8,900 | By Gross Profit 50,000
To Administrative Expenses 2,100
To Selling Expenses 3,000
To Interest 1,000
To Income tax provision 3,000
To Net Profit 32,000
50,000 50,000
Balance Sheet as on 31.03.2018
Liabilities Amount (%) Assets Amount (%)
Share Capital 1,10,000 | Land and Buildings 80,000
Profit and Loss account 30,000 | Plant and Machinery 10,000
Creditors 10,000 | Furniture 30,000
Debtors 10,000
Stock 6,000
Cash 14,000
1,50,000 1,50,000
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Find
a) Inventory Turnover Ratio.
) Operating Ratio.
)  Working Capital Turnover Ratio.
) Capital Employed Turnover Ratio.
) Gross Profit Ratio.
Return on Investment.

00 o

= 0

Part - E
(Practical Oriented Questions)
VIII.Answer any TWO of the following questions, each question carries

FIVE marks. 2x5=10

39. How would you treat the following in absence of the partnership deed.
a) Interest on capital
b) Salary to partners
c) Profit sharing ratio
d) Interest on drawings
e) Interest on partner’s loan

40. Prepare executors loan account with imaginary figures showing the repayment in

two equal installments along with interest
41. Write the pro-forma of the Balance Sheet of a Company with main heads only.

@ @ R/
L RXE S IXE S IXE O
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Accountancy

Model Paper — 2

Time: 3 hours 15 mins Maximum Marks: 100

Instructions:
1. The question paper contains four parts A, B, C and D. Part-A consists of four sections I, II, Ill and IV.
2. Provide working notes wherever necessary.
3. 15 minutes extra has been allotted for candidates to read the questions.
4. Figures in the right hand margin indicate full marks.

Part - A
I. Choose the correct answer from the choices given: 5x1=5
1. Not for Profit Organizations have formed for the purpose of which of the following
a) Profit b) Service
c¢) Both Profit and Service d) None of the above

2. If any partner advances amount to a firm in the form of a loan, then he is entitled to receive
interest from the firm at the rate of

a) 6%p.a b) 5%p.a c) 4%p.a d) 7%p.a
3. The business of the partnership is carried out by

a) All the partners b) Any one of the partner acting for all

c) Any one partner only d) All Partners or any one of them acting for all
4.  Paid up share capital is a part of

a) Share holders’ Funds b) Non Current Asset

c¢) Non Current Liabilities d) None of the above
5. Who among the following can take analysis of the financial statements of a company

a) Shareholders of the company b) Any External Person

c) Both (a) & (b) d) None of the above

II. Fill in the blanks by choosing the appropriate answers from those given in the
brackets. 5x1=5
(Schedule 111, Cash Inflow, 6 Months, Executors’ Loan, Owners)

6. When Fixed amount of money is withdrawn by a partner for personal use at the middle of each
month, then the interest on total amount withdrawn for the year ended will be computed for
as per average method.

7. Amount payable to the legal representative of the dead partner is transferred to
account.

8.  Equity shareholders are to the company.

9.  The prescribed format of the balance sheet to be used by companies is given in the
schedule of the Companies Act 2013.

10. Sale of an asset results in
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I11.
11.

IV.

12.
13.
14.
15.
16.

17.
18.
19.
20.

21.
22.
23.

24.

VI

25.

Match the following: 5x1=5
A B

a) Hospital i) Common Size Analysis

b) Partner’s Current A/C ii)  Percentages

¢) Gain Ratio iii)  Not for Profit Organistion

d) Vertical Analysis iv)  Retirement of a partner

e) Profitability Ratios v)  Fixed Capital system

Answer the following questions in ONE word or ONE sentence each:
5x1=5

State any one reason for admission of a new partner.

What is Intervening period?

Expand DRR.

Shares of Public Limited Company are freely transferable. (State True/False)

Give one example for a transaction resulting in cash inflow from Investing activity.
Part - B
Answer any FIVE of the following questions, each question carries
TWO marks. 5x2=10
What is Honorarium?
State any two rules followed by partnership firm in absence of partnership deed.
Mention any two factors determining the value of the goodwill.
What journal entry is written if a partner takes over an asset of the firm at the time of
dissolution of a partnership firm?
State the two features of the company.
Mention any two merits of the financial statements.
Calculate absolute increase or decrease and percentage of the following information.
Particulars Current Year ) | Previous Year %)
Revenue from operations 50,00,000 35,00,000
Mention any two objectives of preparing cash flow statements.
Part - C
Answer any FOUR of the following questions, each question carries
SIX marks. 4 x6 =24
Suraj and Neeraj are partners who share profits and losses in the ratio of 3:7. Their

opening capitals on 01 April 2021 were ¥ 45,000 and ¥ 1,20,000. For the year
ended 31° March 2021 they earned a profits of ¥ 75,000 before accounting the
following:

Particulars Amount ()
1* May 2021 5,000
31 July 2021 6,000
1% December 2021 3,000
31 December 2021 1,000
1* February 2022 1,000
31°* March 2022 2,500

From the above information, calculate interest on drawings for the year ended 31*
March 2022 in accordance to the product method at 6% p.a.
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26.

27.

Alex and Anthony were partners sharing profits and losses in the ratio of 3:7. They
admitted Joseph in to the partnership firm after which their profit sharing ratios were
fixed at 1:2:12. What will be the Sacrifice Ratio for Alex and Anthony.

Anu, Vinu and Tanu are partners and the following is their balance sheet as on

31.3.2020.

Balance Sheet as on 31/03/2020

Liabilities Amount () Assets Amount ()
Creditors 11,000 | Fixed Assets 90,000
Reserve fund 9,000 | Cash 10,000
Anus’ Capital 30,000
Vinus’ Capital 25,000
Tanus’ Capital 25,000

1,00,000 1,00,000

On 1.1.2021 Anu died and her executors are entitled for the following:

a) Share in her goodwill and the total goodwill of the firm is ¥ 27,000. (As per AS - 26)

b) Share in current year’s profits till the date of death based on the profits of the previous
year and the profits of the previous year is ¥ 12,000.

c) Interest on capital at 12% p.a.

Prepare Anu’s Capital Account.

28. Maddy company limited issued 1,200, 11% Debentures of ¥ 100 each for ¥ 105 at a
premium of ¥ 5 each. Company received T 18 on application, ¥ 51 on allotment
including the premium and Balance in the first and final call.

All the debentures were subscribed and the money was received in all the stages. Pass
necessary journal entries from the above information in the books of the company.

29. From the following information you are required to prepare a statement of profit or
loss for the year ended 31* March 2018 as per schedule III of companies Act of 2013.

Particulars Amount )
Sales 23,00,000
Cost of stores consumed 8,00,000
Publicity and advertisements 3,00,000
Salary and wages 1,20,000
Interest on bank loan 80,000
Interest on Debentures 20,000
Tax 30%

30. From the following find Debt Equity Ratio, Debt to Capital Employed, and

Proprietary Ratio.
Balance Sheet as on 31/03/2021

Liabilities Amount () Assets Amount (%)
Share Capital 2,00,000 | Machinery 80,000
Profit and Loss account 50,000 | Motor car 70,000
Debentures 50,000 | Debtors 1,00,000
Creditors 50,000 | Cash 1,00,000
Total 3,50,000 | Total 3,50,000

31. Compute Cash Flow from Operating Activities from the following, Net profit of
the company is ¥ 9,55,000 after recording the following:
a) Depreciation ¥ 10,000.

b)  Profit on sale of land ¥ 2,000.

c) Increase in debtors ¥ 50,000.

d) Decrease in creditors ¥ 90,000.
46
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Part-D
VII. Answer any THREE of the following questions, each question carries
TWELVE marks. 3 x12 =36
32. Following is the information given for AA Educational trust.
Balance Sheet as on 31/03/2021
Liabilities Amount () Assets Amount ()
Outstanding Salary 4,000 | Land and Buildings 80,000
Capital Fund 1,49,000 | Furniture 50,000
Cash 3,000
10% Investments 20,000
1,53,000 1,563,000
Receipts and Payments account for the Year ended 31/03/2022
Dr. Cr.
Receipts Amount () Payments Amount ()
To Balance b/d 3,000 | By Furniture Purchased 50,000
To Admission Fees 1,10,000 | By Staff Salary 12,000
To Donations 3,000 | By Printing and Postage 6,000
To Sale of old news papers 7,000 | By Lighting 11,000
To Interest on Investment 2,000 | By Fixed Deposits 15,000
To Sale of Furniture 8,000 | By Subscription to News papers 1,100
To Fines and Penalties 5,000 | By Library Books 10,000
By Office Expenses 1,900
By Balance c/d 31,000
1,38,000 1,38,000

Additional information

a) Reduce Land and Buildings by 5% and Furniture by ¥ 5,000.

b)

c) Yadonations are revenue.

Prepare:
a)
b)

Salary ¥ 1,000 and Admission Fees ¥ 9,000 are still due.

Income and Expenditure account for the year ended 31st March 2022.
Balance Sheet as on 31st March 2022.

33. P, Q & R were partners sharing profits and losses in the proportion of 3:2:1 and
the balance sheet as on 31* March 2019 was as follows:

Balance Sheet as on 31.03.2019

Liabilities Amount (%) Assets Amount (%)

Trade Creditors 4 500 | Cash in Hand 2,250
Bills Payable 6,750 | Cash at Bank 11,250
Expenses Owing 6,750 | Debtors 22,500
General Reserve 20,250 | Stock 18,000
Capitals: Factory Premises 33,750
P 22,500 Machinery 12,000
Q 22,500 Loose Tools 6,000
R 22,500 67,500

1,05,750 1,05,750

On 1* April 2019 Q retires from the firm and the terms were as follows:
Goodwill of the firm was valued at ¥ 20,250. (As per AS-26)
Expenses owing to be brought down to ¥ 5,625.

a)

b)
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c) Machinery and Loose Tools are to be valued at 10% less than their book value.
d) Factory premises are to be revalued at ¥ 36,450.

Prepare: Revaluation Account, Partners’ Capital Account and Balance sheet of the firm
after retirement of Q.

34. A,V and S are partners sharing profits and losses in the ratio of 5:3:2. The following
is the balance sheet on 31° December 2022, the partnership firm was dissolved on

this date.
Balance Sheet as on 31.12.2022

Liabilities Amount (%) Assets Amount )
Creditors 30,000 | Cash 20,000
Bills payable 10,000 | Debtors 50,000
Bank overdraft 20,000 | Stock 70,000
S’s loan 10,000 | Machinery 80,000
General reserve 30,000 | Vehicles 50,000
Profit and Loss account 40,000 | Buildings 1,00,000
Capital Accounts:
A 90,000
Vv 80,000
S 60.000 2,30,000

3,70,000 3,70,000

Additional Information

a)  Assets realized were as follows Debtors 10% less than book value, Stock 10% more than
book value, Buildings for ¥ 1,20,000 and Vehicles for ¥ 60,000.

b)  Mr. A takes over Machinery for ¥ 79,000.

c)  Allliabilities were paid in full.

d) Realisation expenses are ¥ 1,000.

Prepare Realisation Account, Partners’ Capital Account & Cash Account.

35. Venu Company limited issued 10,000, 5% Preference shares of ¥ 100 each at a
premium of 20%. The company received ¥ 35 on application, 59 on allotment
with premium and the balance in the first and final call. All the shares were
subscribed and money was received in all the stages except on 500 shares for which
the call money was not received. These 500 shares were forfeited and reissued at
%95 each.

Draft the journal entries related to the above information.

36. From the following information, draft necessary journal entries for each of the
following cases
a) Issue of 1050, 7% Debentures of ¥ 100 each at 5% premium & redeemed at par.
b) Issue of 1050, 7% Debentures of ¥ 100 each at par & redeemed at 20% premium.
c) Issueof 1050, 7% Debentures of ¥ 100 each at 20% premium & redeemed at 10%

premium.

d) Issue of 1050, 7% Debentures of ¥ 100 each at 10% discount & redeemed at 10%
premium.
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37. From the following information prepare a Common Size Balance Sheet of XYZ

Company Limited

Particulars 31.03.2021 )| 31.03.2022 )
Equity share capital 1,00,000 2,10,000
Profit and Loss account 3,00,000 4,00,000
10% Debentures 1,50,000 2,50,000
Trade Payables 90,000 80,000
Total 6,40,000 9,40,000
Machinery 2,40,000 4.80,000
Goodwill 2,00,000 1,80,000
Current Investment 1,10,000 1,40,000
Trade Receivables 90,000 1,40,000
Total 6,40,000 9,40,000

38. The following information is given for a company.

Particulars Amount (%)
Revenue from operations 10,00,000
Current assets 4,00,000
Debentures 2,00,000
Profits after Interest and Tax 50,000
Reserves and Surpluses 1,00,000
Profits before Interest and Tax 2,00,000
Gross Profit 3,00,000
Fixed Assets 8,00,000
Current Liabilities 1,00,000
Equity Share capital (2 10 each) 7,00,000
10% Preference Share Capital 1,00,000

Calculate

a) Gross Profit Ratio.

b)  Working Capital Turnover Ratio.
c¢) Return on Investment.

d) Return on Shareholder’s Funds.
e) EPS.

f)  Fixed Assets Turnover Ratio.

Part - E
(Practical Oriented Questions)
VIII.Answer any TWO of the following questions, each question carries

FIVE marks.

2x5=10

39. Write two Partner’s Capital Accounts under Fluctuating Capital System with 5

imaginary figures.

40. Write Profit and Loss Appropriation account of a firm with any 5 imaginary figures.
4]1. Prepare Comparative Statement of Profit and Loss with 5 imaginary figures.

7 7 O/
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Business Studies

Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 100

Instructions to candidates:

1.

2.
3.
4.

II.

000N

I11.
11.

The question papers contain 5 parts — Part A, Part B, Part C, Part D, and Part E.

Part A consists of 4 sections I, II, Il and IV.

Write the serial number of questions properly given in the question paper while answering.
Write the correct and complete answer.

Part - A
Choose the correct answer 5x1=5
Which of the following is not a function of Management?
a) Planning b) Staffing c) Co-operating d) Controlling.
Which of the following statement best describes the principle of Division of Work?
a) Work should be divided into small tasks
b) Labour should be divided.
c) Resources should be divided among jobs
d) It leads to specialiasation.
Which of the following is an example for the single use plan?
a) Policy b) Procedure c) Method d) Budget.
Which of the following is not an element of Delegation?
a) Accountability  b) Authority c¢) Responsibility d) Informal Organization.
The National Stock Exchange of India was recognized as Stock Exchange in the year.
a) 1999 b) 1993 c) 1994 d) 1995

Fill in the blanks by choosing appropriate word/words from those given in the
brackets. 5x1=5
[Behavioural, Efficiency, Recruitment, Capital structure, Rules]
means doing the tasks correctly with minimum costs.
Principles of Management are mainly in nature.
are specific statements that inform what is to be done.
The process of searching for prospective employees and stimulating them to apply for jobs in
an organization is called as )
refers to the mix between Owners and Borrowed funds.

Match the following 5x1=5
A B

Span of Management i) Oft the Job Method

Case study ii)  Quality of a good leader

Self confidence iii) Number of subordinates under a superior

Bills receivables iv)  Secondary Market

Stock market v)  Current Assets

Lacgogy

©
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IV.
12.
13.
14.
15.
16.

17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

VI

28.
29.
30.
31.
32.
33.
34.
35.
36.
37.

VIIL

38.
39.
40.
41.
42.
43.

Answer the following questions in one word or one sentence each.5 x 1 =5
State any one dimension of Business Environment.

State any one element of Directing.

Expand PERT.

Give the meaning of Product.

In which year the Consumer Protection Act was passed?

Part - B
Answer any Nine of the following questions in two or three sentences each.
Each question carries 2 marks 9x2=18
Define Management.
Give the meaning of Mental Revolution as propounded by F.W.Taylor.
State any two features of Planning.
Compare and contrast Authority and Accountability (Any Two).
Name any two important tests used for selection of employees.
State any two elements of Communication process.
Give the meaning of Break even Analysis.
Give the meaning of Trading on Equity.
What do you mean by Dematerialization?
Give two examples for Convenience Goods.
State any two reasons to emphasize the importance of Consumer Protection from the point of
view of Business.

Part - C

Answer any Seven of the following questions in 10-12 sentences. Each
question carries 4 marks. 7 x4=28
Discuss the significance of Principles of Management
Explain any four features of Business Environment.
Explain the importance of Planning with any four points
Explain the four methods of On the job training.
Explain briefly the steps involved in Controlling process
Explain any four factors affecting Financing Decisions
Explain any four factors affecting the Working capital requirement of an organization
State any four considerations to be kept in mind while choosing brand name
Explain the elements of Marketing Mix
State any four responsibilities of consumers while purchasing, using and consuming goods and
services.
Part - D
Answer any Three of the following questions in 20 - 25 sentences each. Each
question carries 8 marks 3 x8=24
Explain the characteristics of Management
Explain the importance of Organising.
Explain the benefits of Training and Development to the organization and to the employees.
Explain the principles of Directing
What is Stock Exchange? Explain the functions of Stock Exchange.
State the eight differences between Advertising and Personal Selling.
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Part - E
VIII.Answer any Two of the following questions. Each question carries 5 marks.
2x5=10

44. Assuming that you are the manager of an organization, draw the neat diagram of different
levels of management to specify that authority — responsibility relationships create different
levels of Management.

45. Draw the Organization Chart showing Divisional and Functional Structure.

46. As a Financial Consultant, give the list of any ten factors which affect the choice of Capital
Structure.

7 7 )/
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Time: 3 hours 15 mins Maximum Marks: 100

Instructions to candidates:

RN~

II.

10.

The question papers contain 5 parts — Part A, Part B, Part C, Part D, and Part E.

Part A consists of 4 sections I, II, Il and IV.

Write the serial number of questions properly given in the question paper while answering.
Write the correct and complete answer.

Part - A
Choose the correct answer 5x1=5

‘She/He keeps machines, materials, tools etc. ready for operations by concerned workers’.
Whose work is described by this sentence under functional foremanship?

a) Instruction lard clerk b) Gang boss

c) Repair boss d) Route clerk

Which of the following is not a function of staffing?

a) recruitment b) Training c) Compensation d) Directing
The software company promoted by Narayana Murthy is

a) Wipro b) Infosys c¢) Satyam d) HCL
Controlling function of an organisation is

a) Forward looking b) Backward looking

c) Reflective looking d) Forward as well as backward looking
The cheapest source of finance is

a) Debenture b) Equity share Capital

c) Preferences shares d) Retained earnings

Fill in the blanks by choosing appropriate word/words from those given in the
brackets. 5x1=5

[Centratised, Interest rates, Reserve Bank of India, Encoding, Secondary Packaging]
is an element of Economic Environment.

When decision — making authority is retained by higher management level is called
organisation.

The process of converting the message into communication symbols such as words, pictures,
gestures is known as

is one of major participant in the money market.
refers to additional layers of protection that are kept till the product is ready for use.
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III. Match the following 5x1=5
11. A B
a) Policy Formulation i) F.W. Taylor
b) Standing plan ii) Money market instrument
c) Scientific Management iii) Top level Managers
d) Working capital iv) Plan is used for activities that occur regularly over a period of time.
e) Call Money v) Current Assets — Current liabilities
IV. Answer the following questions in one word or one sentence each.5 x 1 =5
12. What is Management?
13. State the first step in Planning Process.
14. Can Accountability be delegated?
15. Name one internal source of Recruitment.
16. Who is a Consumer?
Part - B
V. Answer any Nine of the following questions in two or three sentences each.
Each question carries 2 marks 9x2=18
17. Define Coordination.
18. State any two differences between Unity of Command and Unity of Direction.
19. What is a Policy?
20. State any two differences between Delegation and Decentralisation.
21. Mention any two demerits of internal source recruitment.
22. Write any two features of Motivation
23. What do you understand by Budgetary Control?
24. State the twin objectives of Financial Planning
25. What is Stock Exchange?
26. State any two features of Specialty Goods.
27. What is consumer protection?
Part - C
VI. Answer any Seven of the following questions in 10 — 12 sentences. Each
question carries 4 marks. 7 x4=28
28. Explain the Principles of Management contributed by F.W. Taylor
29. Explain any four points to explain how important the understanding of Business Environment
for managers is.
30. Explain any four limitations of Planning.
31. Explain the four methods of Off-the—job training.
32. Explain the limitations of controlling.
33. Explain any four factors affecting the Fixed Capital requirement of an organisation.
34. What is Capital Budgeting decision? Explain briefly the factors affecting capital budgeting
decision.
=
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35.
36.
37.

Explain any two advantages and limitations of Advertising.
Explain any four factors affecting price determination.
Explain any four Rights of Consumer.

Part - D

VII. Answer any Three of the following questions in 20 — 25 sentences each. Each

38.
39.
40.
41.
42.
43.

question carries 8 marks 3 x8=24
“Management is a series of continuous interrelated functions” Comment

State the advantages and disadvantages of Formal Organisation.

Describe the steps involved in Selection Process.

Explain the qualities of a good leader.

Explain the functions of Securities and Exchange Board of India

Explain any eight functions of Marketing.

Part - E

VIII.Answer any Two of the following questions. Each question carries 5 marks.

44.

45.
46.

2x5=10
As a general manager, list out any ten Fayol’s Principles of Management which you would like
to adopt in your business organization.
Draw the neat diagram of Maslow’s Need Hierarchy (Triangular diagram)
As a marketing managers, Suggest any five sales promotion activities to boost up the sales.

7 7 )/
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Economics

Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 100
Part - A
I. Answer the following questions by choosing the correct answer
10 x1 =10
1. The demand for these goods increases as income increases
a) Inferior goods b) Giffen goods c) Normal goods d) None of the above
2. TC=
a) TVC b) TFC c) TFC + TVC d) AC+ MC
3. When the price elasticity of demand is more than one, MR has a
a) Negative value b) Decreasing value c¢) Constantvalue d) Positive value
4.  The individuals or institutions which take Economic decisions are
a) Economic variables b) Economists
c) Economic Agents d) None of the above
5.  The value of GDP at current prevailing prices is
a) Real GDP b) GDP at factor cost
¢) Nominal GDP d) NDP
6. The main function of money is
a) Saving b) Expenditure
c) Medium of exchange d) Investment
7.  Easy availability of credit encourages
a) saving b) Investment c) Rate of interest d) None of the above
8.  The Tax acts as an automatic stabilizer
a) Qualitative income tax b) Income tax
c¢) Quantitative tax d) Proportional income tax
9.  The balance of payments (BOP) record these transactions between residents and with the rest
of the world.
a) Goods b) Services c) Assets d) All of the above
10. In this standard all currencies were defined in terms of gold
a) Metal standard b) Silver standard c¢) Gold standard d) None of the above
=
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II.

11.

12.
13.
14.
15.

I11.
16.

IV.

17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

V.

31.
32.
33.
34.

Fill in the blanks. 5x1=5

[Narrow money, Maximum, MPC, Revenue Receipts, Inventory]

With the zero production cost, when the total revenue of Monopoly firm is maximum, the profit

is

is a stock variable.

M; and M, are known as

Size of multiplier depends on the value of

Revenue deficit = Revenue Expenditure —

Match the following. bx1=
A B
1. Service of a teacher a.  Operation of invisible hand
2. mn= b. Trade in goods
3. Adam smith c. Paper gold
4. SDR d.  Skil
5. Balance of trade e. TR-TC
Part - B

Answer any NINE of the following questions in about four sentences each.

9x2=18

What is monotonic preference?

What are the differences between budget line and budget set?

State the law of Demand.

What do you mean by price elasticity of demand?

Write the meaning of opportunity cost with an example.

What is Marginal Revenue product of labour (MRP,)

State the meaning of Average Revenue and Marginal Revenue.
Write the meaning of monopolistic competition and give an example.
What is the difference between consumer goods and capital goods?
Write the equation of GDPy;p and GDPgc.

Mention two functions of money.

How does bank rate influences money supply.

Why public goods must be provided by the Government.

Why do people demand foreign exchange?

Part - C

Answer any SEVEN of the following questions in about Twelve Sentences
each. 7 x4 =28

Briefly explain the Production possibility frontier.

Explain TP, AP and MP with the help of examples.
Explain the determinants of firm’s supply curve.

Explain the working of the economy of a capitalist country.
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35. Write a short note on the concepts of final goods.
36. Explain the circular flow of income of an economy.
37. Briefly explain the functions of RBI.
38. Explain investment function with the help of graph.
39. Distinguish between revenue expenditure and capital expenditure.
40. Write a short note on Ricardian equivalence.
41. Write the chart of components of capital account.
Part - D
VI. Answer any FOUR of the following questions in about Twenty Sentences each.
4x6=24
42. Explain the market demand with the help of diagrams.
43. Explain the Total Revenue and Average Revenue of a firm under perfect competition with the
help of diagram.
44. Explain the Simultaneous shifts of demand and supply curve in perfect competition with help of
diagrams.
45. Explain the short-run equilibrium of monopolistic firm, when the cost of production is positive
by using TR and TC curves with the help of a diagram.
46. Explain the macro economic identities.
47. Explain the open market operation.
48. Write a note on balance of payment.
Part - E
X. Answer any TWO of the following project oriented questions. 2 x5 =10
49. A consumer wants to consume two goods. The price of Banana is I 5 and the price of Mango is
% 10 and consumer income is < 40.
a) How many bananas can she consume if she spends her entire income on that good?
b) How many mangoes can she consume if she spends her entire income on that good?
c) Isthe slope of the budget line downward or upward?
d) Are the bundles on the budget line equal to the consumer’s income or not?
e) If you want to have more of banana, you have to give up mangoes. Is it true?
50. Find the missing products in the following table.
Factor 1 TP MP AP
0 0 0 0
1 10 - 10
2 24 - 12
3 40 16 13.33
4 - 10 -
5 - 6 11.2
6 57 1 9.5
51. Name the currencies of any 5 countries of the following
USA, UK, UAE, Germany, Japan, China, Argentina, Bangladesh, Russia.
05> #3205 52 0> 90 oS
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Economics

Model Paper — 2

Time: 3 hours 15 mins Maximum Marks: 100
Part - A
I. Answer the following questions by choosing the correct answer
10 x1 =10
1. Central problems of an economy includes.
a) What to produce b) How to produce
c) For whom to produce d) all the above
2.  The equation of budget line is
a) P +Px, =M b) M=Px,+P, ¢ Px,+Px,=M d) Y=M_+C
3.  The change in output per unit of change in the input is called
a) Marginal product b) Average product c¢) Total product d) Product
4.  When the supply curve is vertical the elasticity of supply is
a) es=1 b) es>1 c) es=0 d) es= o
5.  The government imposes upper limit on the price of goods and service is called
a) Goods floor b) Service floor c) Price ceiling d) None of the above
6. Profit =
a) PxQ b) TR-TC c) TFC+TVC d) T%
7.  The study of National income is related to
a) Micro economics b) Macro economics
c) Both micro and macro d) None of the above
8.  The rate at which RBI lends money to commercial banks against securities
a) Bank rate b) Repo rate
c) Reverse Repo rate d) None of the above
9.  The rate at which the prices of one currency in terms of foreign currency is called
a) Exchange control b) Interest rate
c) Foreign exchange rate d) None of the above
10. The exchange rate is determined by the market forces of demand and supply is called

a) Fixed exchange rate b) Dirty floating exchange rate

c) Flexible exchange rate d) None of the above

Courses offered @ ASC: B.Com / BBA / BCA 59



AS ( : A Il PUC Model Question Paper for March — 2023
e

Annual Examination

Committed to Excellence

II.

Fill in the blanks. 5x1=5

[Revenue receipts, 1944, opportunity cost, value added, decreases]

11. cost of some activity is the gain foregone from the second best activity.
12. If the supply curve shifts rightward and demand curve shifts leftwards, price will be
13. The net contribution made by a firm is called its
14. Revinue deficit = Revenue expenditure —
15. The Bretton woods conference held in the year
I1I. Match the following. 5x1=5
16. A B
1. Normative economics a. QD =QS
2. SMC b. Broad money
3.  Market equilibrium c. Trade in goods
4. Msand M, d. Evaluate the mechanism
5. Balance of trade e. ATC
Aq
Part - B
IV. Answer any NINE of the following questions in about four sentences each.
9x2=18
17. What do you mean by inferior goods? Give example.
18. Mention two different approaches which explain consumer behaviour.
19. What is monotonic preference?
20. State the law of demand.
21. Give the meaning of Shutdown point.
22. How wage is determined in labour market?
23. Write the features of monopoly.
24. State the relationship between MR and price elasticity of demand.
25. Distinguish between stock and flow with example.
26. Write the difference between nominal and real GDP.
27. State the credit control instruments of RBI.
28. What role of RBI is known as ‘Lender of last resort’.
29. Who are free riders? Why are they called so?
30. What is foreign exchange rate?
Part - C
V. Answer any SEVEN of the following questions in about Twelve Sentences
each. 7 x4 =28
31. Write a short note on centrally planned economy.
32. Explain [soquants with the help of diagram.
33. Explain the features of perfect competition.
=
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34.
35.
36.
37.
38.
39.
40.
41.

VI

42.
43.
44.
45.
46.
47.
48.

49.

50.

51.

Briefly explain in what way macro economics is different from micro economics.
Explain the circular flow of income of an economy.

Write a note on externalities.

Write a note on legal definitions of money.

Briefly explain consumption function.

Write a chart of the government budget.

Briefly explain revenue deficit and fiscal deficit.

Write a note on balance of trade.

Part-D
Answer any FOUR of the following questions in about Twenty Sentences each.
4 x6=24
Explain the optimal choice of consumer with the help of a diagram.
Explain the short run supply curve of a firm with the help of a diagram.
Explain the market equilibrium with the fixed number of firms along with the diagram.
Explain short run equilibrium of the monopolist with the case of zero cost.
Briefly explain expenditure method of measuring GDP.
Requirement of reserves acts as a limit to money (credit) creation. Explain.
Write a short note on gold Standard.

Part - E
Answer any TWO of the following project oriented questions. 2 x5 =10
A consumer wants to consume two goods. The price of Banana is ¥ 5 and the price of Mango is
% 10 and consumer income is ¥ 40.
a) How many bananas can she consume if she spends her entire income on that good?
b) How many mangoes can she consume if she spends her entire income on that good?
c) Isthe slope of the budget line downward or upward?
d) Are the bundles on the budget line equal to the consumer’s income or not?
e) If you want to have more of banana, you have to give up mangoes. Is it true?
Find the missing products in the following table.

Factor 1 TP MP AP
0 0 0 0
1 10 - 10
2 24 - 12
3 40 16 13.33
4 - 10 -
5 - 6 11.2
6 57 1 9.5

Name the currencies of any 5 countries of the following
USA, UK, UAE, Germany, Japan, China, Argentina, Bangladesh, Russia.

@ @ R/
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Note:

1. Graph sheets and statistical tables will be supplied on request.

2. Scientific calculators may be used.

3. All working steps should be clearly shown.

4. Section A should be written in the beginning of the answer booklet.

Section - A
I. Choose the correct answer. 5x1=5
1.  The births occurring to women of child bearing age is called
a) Fecundity b) Mortality c) Fertility d) Cohort
2.  The best average in the construction of index numbers is
a) Arithmetic mean b) Geometric mean ¢) Harmonic mean d) None of the above
3. The parameter of t — distribution is
a) p b) 0 c) n d) n
4, IfP=05andn = 100, the SE (p) is
a) 05 b) 0.05 c) 0.005 d) 0.0005
5. A transportation problem is balanced if and only if
a) Xa,=Xb, b) a =b, c) Xa=2Xb, d) 2a;=2Xxb
II. Match the following. 5x1=5
6. i)  Vital event a) pq
ii)  Consumer Price index uses b)  Value of the game
iii)  Size of the test c) Death
iv)  Variance of Bernoulli distribution d) Retail prices
v)  Pay-off at the saddle point e) «
III. Fill in the blanks. 5x1=5
[Feasible region, (n - c), 0.5, Fisher’s, DSP]
7. index number is free of bias.
8. Ifzisa SNV then P(z < o) is
The degrees of freedom while testing goodness of fit is
10. is a method of acceptance sampling.
11. In LP.P is the area which satisfies all the constraints and non-negativity
restrictions.
E
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IV. Answer the following questions. 5x1=5
12. Define cohort.
13. If 2p,q, =1100 and > p,q, =1400, compute suitable index number.
14. In time series, which index is used for the measurement of seasonal variation?
15. Under what condition Poisson distribution tends to normal distribution?
16. If in a game the pay-off at saddle point is 4, what is the value of minimax?
Section - B
V. Answer any FIVE of the following questions. 5x2=10
17. State two norms for the selection of base year.
18. Diagrammatically represent “Business cycle” with stages.
19. Write down the conditions for application of Binomial expansion method of interpolation and
extrapolation.
20. Mean and variance of a normal distribution are 12 and 4 respectively. Find points of inflexion.
21. Define Type I error and Type II error.
22. Write down two uses of standard error.
23. Define product control and process control.
24. Mention the assumptions of EOQ Model I in inventory theory.
Section - C
VI. Answer any EIGHT of the following questions. 8 x5=40
25. Calculate TFR for the following data
Age group (in years) 15-19120-24125-29|130-3435-39|40-44|145-49
Female Population (‘000) 58 60 56 55 50 44 40
No. of live births 1392 9000 | 11928 | 6490 1650 572 60
26. Mention the steps involved in the construction of index numbers.
27. Construct consumer price index number using family budget method.
Price () .
Group Base year Current year Weight
Food 150 180 65
Clothing 70 90 20
Fuel 100 120 20
Entertainment 50 80 15
Education 60 75 10
Others 80 110 15
28. Find four yearly moving averages from the following data.
Year 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014 | 2015

Production (000’s) | 12 16 08 20 24 | 36 32 40 42

29.

Using Newton’s forward difference method find the value of y when x = 25
X 15 19 23 27 31
v 17 18 22 28 35
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30.

31.

32.

33.

34.
35.

In a college 35% students are girls. Find the probability that

i) two are girls.

ii)  atleast one is a girl in a random sample of 5 students.

In a hyper geometric distribution if a = 6, b = 9 and n = 4 then find

a) Mean

b)  Standard deviation.

From the following data, test whether there is any significant difference between mean weight
of boys and mean weight of girls at «c=1%

Boys Girls
Mean weight 50 54
Standard deviation 8 12
Sample size 64 48

The mean time of a process is 12.5 hours. An engineer feels that it is less than 12.5 hours. To
test this he takes a random sample of 26 observations and finds that the mean and S.D are 12.5
hours and 15.91 hours respectively. Test whether his conclusion is correct (Take o=1% ).

If x=60.5 and R =3.5, find the control limits for x — chart, given A, = 0.577.
Solve the following LPP graphically.

Minimize Z = 3x + 2y

subject to 5x + 4y < 50

X+ 2y > 10
and x,y >0
36. Solve the following game by dominance rule.
Player B
B, B, B;
A, 6 12 7
Pl A

Ea A, 7 9 8

A; 5 8 9

A, 3 6 10

Section - D

VII. Answer any TWO of the following questions. 2 x10 =20

37.

Calculate GRR and NRR for the following data and comment on the result.

Age group (in years) | 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45-49

Female population 10000 | 9000 | 8000 | 7000 | 6000 | 5000 | 4000

Female births 200 360 480 280 180 100 40

Survival ratio 0.91 0.9 0.89 0.88 0.87 0.86 0.85

64
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38.

39.

40.

VIII.Answer any TWO of the following questions.
41.

42.

43.

44.

Compute Marshall — Edgeworth’s and Dorbish — Bowley’s price index numbers from the
following data.
2006 2010
Item
Price %) Quantity Price ) Quantity
A 8 50 10 60
B 4 80 5 100
C 6 70 6 60
D 5 30 7 50
Population figures for a city are given below.
Year 2008 | 2009 | 2010 | 2011 | 2012
Population (‘000) 132 142 157 170 191

Fit a curve of the type y = ab* and estimate the population for the year 2014.

a) Fit a Poisson distribution to the following data and obtain the theoretical frequencies.
No. of mistakes 0 1 2 3 4 5 or more
No. of pages 31 34 21 12 2 0
b) Test at 1% level of significance that there is any significant difference between observed

and expected frequencies.
O, 180
E; 200

160
150

110
100

50
50

Section - E

2x5=10
The distribution of monthly income of workers of a factory follows normal distribution with mean
310,000 and standard deviation ¥ 1,000. Find the probability of the number of workers

(i)  having income more than ¥ 9,000.

(i) having income between ¥ 8,500 and ¥ 12,000.

In a sample of 400 people in Kerala 220 are tea drinkers and the rest are coffee drinkers. Can
we assume that both tea and coffee are equally popular in this state? Use «c=5% .

Test whether attributes smoking and literacy are independent for the following data.
(Take «=1%)

Smokers Non — smokers
Literates 25 75
Illiterates 50 150

The cost of a machine is ¥35,000 and assume that the machine has no resale value. The
operating costs in different years are as follows.
Year 1 2 3 4 5 6

1,500 | 4,500 | 7,500 | 10,500 | 13,500 16,500
Determine the optimum period for replacement of the machine.

Operating cost (%)

R/ R/ K/
5D 42 05D 448 05D 452 o5
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Note: 1. Graph sheets and statistical tables will be supplied on request.
2. Scientific calculators may be used.
3. All working steps should be clearly shown.

4. Section A should be written in the beginning of the answer booklet.

Section - A

I. Choose the correct answer. 5x1=5
1.  The expected number of years that a new born baby would live is known as

a) Radix b) Longevity c) Expectation of life =~ d) Cohort
2.  The weights used in the construction of Laspeyre’s index number

a) Base year quantities b) Base year prices

c) Current year quantities d) Current year prices
3. In a Binomial distribution, if n = 5 and p = 0.2, the variance is

a) 10 b) 0.8944 c 08 d 1
4.  Goodness of fit test is always an

a) Lower - tailed test b) Upper — tailed test

c) Two - tailed test d) None of the above
5. The game is fair if V is

a) 1 b) O c) 2 d) 10
II. Match the following. 5x 1=
6. i)  Total area under probability curve a) Typelerror

ii)  Size of the Radix b) Iquadrant

iii) Laspeyre’s index number c 1

iv)  Rejecting Ho when it is actually true d) 1,00,000

v)  Graphical solution to LPP e) Upward bias
III. Fill in the blanks. 5x1=5

[d-chart, Kelly’s, decreasing, (1 - B ), Standard normal]

7. index number satisfies circular test.

8 In distribution, S.D and variance are equal.
The power of a test is

10. In statistical quantity control is used to control the number of defectives.

11. The principle of replacement theory is “To date average annual cost stops and
starts increasing”.

=
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IV. Answer the following questions. 5x1=5
12. Define demography.
13. Mention one characteristic of index numbers.
14. In time series, which variation is predictable?
15. For a chi-square distribution with 6 degrees of freedom, find variance.
16. Mention the objective of inventory theory.
Section - B
V. Answer any FIVE of the following questions. 5x2=10
17. Define an index number.
18. State two conditions of least squares method of measuring trend.
19. Differentiate between interpolation and extrapolation.
20. In a normal distribution, Q; = 30 and Q; = 60. Find Q.D.
21. Define point estimation and interval estimation.
22. Ifn; =40,n, = 60, P; = 0.02 and P, = 0.01, find S.E. (p; — p2)
23. Name the control charts for variables.
24. From the following T.P. test whether solution is non-degenerate.
30 10 -
_ 30 _
- 20
Section - C
VI. Answer any EIGHT of the following questions. 8 x5=40
25. Calculate NRR from the data given below and comment.
Age (years) 15-19120-24|25-29|30-34|35-39|40-44 |45 -49
Female Population | 2000 2500 2200 2000 1800 1600 1500
Female births 50 380 400 350 160 50 10
Survival Rates 0.96 0.93 0.9 0.9 0.88 0.85 0.8
26. Define CPI. Mention the steps involved in the construction of CPI.
27. Compute weighted geometric mean price index number from the following data.
Commodities A B C D E
Weights 30 15 20 10 25
Base year price 100 20 70 20 40
Current year price 90 20 60 15 55
28. Obtain trend values by 5 yearly moving average method for the following time series.
Year 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009
Production (000’s) | 15 16 18 18 20 19 22 24 25

29. Following is the data regarding annual life insurance premium. Using binomial expansion
method estimate the premium at the age 30 and 45.

Age (in years)

20 25

30

35

40

45

Premium (in )

1426 | 1581

1996

2256 -
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30. The probability of a fuse manufactured by a firm found to be defective is 0.03. Find the
probability that a box containing 100 fuses contains
i) No defective fuse.

ii)  Atleast two defective fuse.

31. Abox contains 20 chalk pieces out of which 12 are white and rest are coloured. A teacher
picks 5 chalk pieces at random. Find the probability that there are two white chalk pieces
among the picked ones. Also find the mean number of white chalk pieces.

32. A machine produced 5 defective articles among 80. After some repair the machine produced 3
defective articles among 60. Test whether the proportion of defective articles have reduced
after repair, at 5% level of significance.

33. The following data represents the blood pressure of 5 persons before and after performing

Dhyana
Person A B C D E
Blood pressure before Dhyana 90 90 100 88 99
Blood pressure after Dhyana 88 90 95 86 96

34. Twenty pieces of cloth out of different rolls contained respectively 1, 4, 3, 2, 5, 4, 6, 7, 2, 3, 2,
5,7,6,4,5, 2,1, 3, 8 imperfections. Calculate control limits for suitable control chart.
35. Solve the following LPP graphically.
Minimize Z = 100x + 170y
subject to 2x + 3y < 36
x + 2y < 20
and x,y >0
36. For the following transportation problem find initial basic feasible solution by NWCR method.
Compute transportation cost.

Destination
Availability
D, D, Ds
O 8 4 12 500
Origin O, 10 5 6 200
Os 7 5 3 100
Requirement 400 200 200 800
Section - D
VII. Answer any TWO of the following questions. 2 x10=20
37. For the following two towns compute Standardized death rates and comment.
Standard Town A Town B
Age (years) .
Population | Population | Deaths | Population | Deaths
0-20 20,000 8,000 128 4,000 72
20-50 30,000 13,000 65 9,000 54
50 -70 35,000 10,000 140 7,000 98
70 and above 15,000 4,000 252 3,000 129
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38.

39.

40.

VIII.Answer any TWO of the following questions.
41.

42.

43.

44.

Using the following data verify whether Fisher’s Index number satisfies TRT and FRT.

Item Price %) Quantity
Base year | Current year | Base year Current year
A 10 12 5 7
B 20 21 6 9
C 5 6 2 5
D 8 8 5 6

Fit a parabolic trend by the method of least square for the following time series data. Also
estimate production in 2009.
Year 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007
Production (tons) 8 10 11 12 14 15 17
a) Fit a Binomial distribution for the following data
No. of defective items 0 1 2 3 4 5
No. of samples 1 11 25 28 20 15

b) From the following data test whether Binomial distribution is a good fit at oc=5%

No. of defective items 0 1 2 3 4 5
Observed no. of samples 1 11 25 28 20 15
Expected no. of samples 1 18 23 34 26 8

Section - E

IfX~N (100, 32 ) , find the probability that the value of the variate lies

(i) between 97 and 106

(i) less than 98.

A sample of 50 children is taken from a school. The average weight of the children is 28 kgs and
standard deviation is 5 kgs. Test at 1% level of significance, if we can assume that the average
weight of the school children is less than 30 kgs.

A random sample of size 25 taken from a population gives the sample standard deviation 8.5.
Test the hypothesis that the population standard deviation is 10.

The following are the maintenance and depreciation cost per year of a vehicle whose purchase
price is ¥ 50,000. When should the vehicle be replaced?

Year Depreciation cost () Maintenance cost (%)
1 20,000 5,000
2 35,000 6,000
3 42 500 7,000
4 46,250 9,000
5 48,000 11,500
6 48,000 16,500
7 48,000 18,500
oS> 30 o5 % R S B
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Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 100

General Instructions:
1. The question paper has 5 parts A, B, C, D and E
2. Part A carries 20 marks; Part B carries 18 marks; Part C carries 27 marks; Part D carries 25 marks and Part E carries
10 marks
3. Write the question number properly as indicated in the question paper
4. Section A should be answered continuously at one or two pages of answer sheet and Only the first answer is
considered for marks in Part A

Part - A
I. Answer ALL the following questions 20 x1 =20
1
1. IfA= 3 then matrix 3A =
2 -1
2 3 3 9 -3 9 1 3
b d
LN ) B B P B P
4
2. If[. "|=0,thenx =
4 x
a) 2 b) -2 c) 4 d -1
3.  The Number of ways of 5 people stand in queue
a) °P, b) °P, c °P, d) °P,
4.  Probability of getting a prime number when an unbiased die is rolled
a) 1 b) 2 c) 1 d) >
6 3 2 6
5.  Negationof p —» q is
a) ~p—>~q b) pa~q ¢) ~pvg d ~pv-~q
6. The mean proportional of 9 and 16
a) 11 b) 144 c 12 d 16
V3 .
7. If cosA= - and A is acute angle then cos 2A
1 1 -1 -1
P b) = - d —=
a) 1 ) 5 c) 5 ) 2
8.  Theradius of the circle x* +y*-25=0
a) 4 b) 3 c 2 d 5
) dy
y =sin(cosx) then T
a) cos(cosx) b) —sinx-cos(cosx) c) cos(cosx)-sinx d) cosx-cos(cosx)
10. The value of I%dx =
e
a) 2e"+c b) —+c c) ——+c d) —+c
e e e
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11.

12.
13.
14.

15.

16.
17.
18.

19.
20.

I1.

21.

22.
23.

24.
25.
26.
27.

28.
29.

30.

31.
32.

33.

I11.
35.

36.

For question numbers 11 to 15 choose the appropriate answer from the
answers given below

(320, 8, 2, 3:7, 6)

If °C +°C, ="C, thenx =

The compound ratioof 3: 4 and 4 : 7 is )

The income obtained from ¥ 8,000 of 4% stock

Sharath paid ¥ 40 sales tax on pair of shoes worth of ¥ 500 then the rate of sale tax is
%.

2 J—
The value of lin} x -1
X—> X —

is

Write symbolically “if a quadrilateral is a square then it is a rectangle”.
Define Bankers discount.
Write the formula of learning curve ratio.

Find the focus of the parabola y* = —16x .

If cost function of a firm is given by C(x) =x®—3x+7 find average cost.

Part - B
Answer any NINE of the following questions. 9x2=18

2 -1 1
If [3 1 My} {20} find x and y.

Find nif "P, =210.

A bag contain 6 white balls and 4 red balls a ball is drawn at random what is the probability
that the ball drawn is white.

Write the converse and contrapositive of the statement “if x < 1 then it is a prime number”.
Ifa:b=2:3,b:c=3:5andc:d=5:7finda:d.

Find the bankers discount of the bill ¥ 415 due 9 months at 15% p.a.

If A+B+C=180° and tanA =1, tanB = 2 prove that tanC = 3.

Prove that sin(45° + A) + cos(450 + A) =2 cosA.

Find the equation of the parabola whose vertex is (0, 0) and focus is (3, 0)

2 oy <
Verify whether the function f(x) = { x ) 11 li *= 1 is continuous at x = 1
-x“-1 if x>

y =log 1- prove that — dy = 2cosecx
1+ cosx dx

The sum of two numbers is 48 find the numbers whose product is maximum.

Evaluate |sec?3x dx.

O N[ 3

Part - C
Answer any NINE of the following questions. 9 x3 =27
Solve by Cramer’s rule 5x+7y =3, 7x+5y =9.

Prove that in a determinant the elements of any row are multiplied by the same scalar say ‘k’
then the value of new determinant is ‘K’ times the given determinant.
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37.

38.

39.
40.
41.
42.

43.

44.
45.

46.
47.

48.

IV.
49.

50.

51.

52.
53.

54.

Find the number of words that can be formed by using all the letters of the word “RAINBOW”.
a) How many of them begin with R and end with W.

b) How many of them end with BOW.

c) How many of them begin with a ROW.

A card is drawn from a well-shuffled pack of 52 cards. Find the probability that

a) Card drawn is red.

b) Card drawn is queen.

c)  Card drawn is black and king.

If 10 persons can do a job in 30 days in how many days can 15 person can do the same job.
A bill drawn for 3 months was legally due to 06.07.2009 find the of drawing of the bill.
Sukanya holds ¥ 8,000 of 3% stock. She sells it at ¥ 110 and invests the proceeds in 5% stock.
Thereby her income increases by ¥ 260. Find the market price of 5% stock.

A shopkeeper announces a discounts of 10% on TV set. The market price of the TV is ¥ 22,000.
How much will a customer have to pay for buying the TV set if the rate of sales tax is 8%.

Find the equation the parabola whose vertex is origin and axis is y-axis passes through the point
(-1, -3).

. ., dy
If x=a(6—sin6) and y=a(1-cosh) find "
The height of a cone is 60cm and it is constant the radius of the base is increasing at the rate of
0.5cm/sec. Find the rate of increases of volume of the cone when the radius is 10cm.

Find the stationary points and the corresponding value of the function f(x) =x>-3x-9x+5.

Evaluate J. x-sinxdx.

Evaluate J. # dx.

(X—l)(x—2)

Part - D

Answer any FIVE of the following questions. 5x5=25
Solve x—y+2z=3, 2x+z=1, 3x+ 2y +z =4 by matrix method.

11
Find the middle terms in the expansion of (2}(2 —ij .

Jx

2

Resolve 2)(_—2 into partial fraction.

X“+x-12
Verify whether the compound proposition [p viga r)] - [(p va)a(gv r)] is a tautology.

If 8 men and 16 boys can do a piece of work in 6 days and 12 men and 24 boys can do the
same work in 8 days. In how many days can 16 men and 20 boys do it.

A motor company Ltd., has observed that a 90% learning effect applies to all labour related
costs. Whenever a new product is taken up for production, the anticipated production to 320
units for the coming year. The production is done in lots of 10 units each. Each lot requires
1000 hours at ¥ 15/hour. Calculate the total labour hours and labour cost to manufacture
320 units.

55. Maximum,z =X +y
subject to constraints
2x-y+1>0, x+y<3,x<2x>0,y>0
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56. Prove that sin20° -sin40° - sin60° - sin80° = % )

57. If y=x+x*-1 Prove that (x*~1)y, +xy, ~y =0.
58. Find the area of the region between the parabolas y* = 4ax and x* =4ay.

Part - E
Answer the following questions. 1x10=10
59. Show that the following points (2, 0), (-1, 3), (-2, 0) and (1, —1) are concyclic. [6]
OR
Prove that %mg% =1 where 0 in radian. [6]

60. A person standing on the bank of a river observes that the angle subtended by a tree on the
opposite bank is 60°. When he returns 40 meters from the bank, he finds the angle to be 30°.

Find the height of the tree and the breadth of the river. [4]
OR
Find the value of (98)* using Binomial theorem upto 4 places of decimals. [4]
oS % 0B % 0B oS

Courses offered @ ASC: B.Com / BBA / BCA 73



ASCL

Committed to Excellence

I1 PUC Model Question Paper for March - 2023
Annual Examination

Basic Mathematics

Model Paper — 2

Time: 3 hours 15 mins

Maximum Marks: 100

General Instructions:

1.
2.

3.
4.

The question paper has 5 parts A, B, C, D and E

Part A carries 20 marks; Part B carries 18 marks; Part C carries 27 marks; Part D carries 25 marks and Part E carries

10 marks
Write the question number properly as indicated in the question paper

Section A should be answered continuously at one or two pages of answer sheet and Only the first answer is

considered for marks in Part A

Part - A

I. Answer ALL the following questions 20 x1 =20
L otA=°> Y and B=| ! then AB =
2 4 3
0 10
b 10 0 d (0 10
9 |1 o] 9 10 0] ) [o 10
101 102
2.  Thevalue of 0 0 is
103 104
a) -2 b) 2 c -1 d 1
3.  Thevalue of °P, is
a) 20160 b) 20000 c) 21000 d) 20150
4.  The probability of getting a head in a toss of a coin is
1 1
= b) 1 0 d —
a) 5 ) c) ) 1
5. The negation of ~pAq is
a) pr~gq b) pv-~q c) ~pr~q d ~pv-~q
6. The third proportion of 6 and 24 is
a) 90 b) 69 c) 24 d) 96
7. If sinA :% and A is acute angle then sin 2A is
2 43 b o3 0 = g B
2 2 2 4
8.  The equation of the circle with centre is at origin and radius 4 is
a) x*+y?=1 b) x*+y?=2 c) x*+y?=16 d) x*+y?=4
9. Ify=e*+x° then&:
X
a) e*+ex? b) e*+e c) e*+x d) e*+log, x
10. The value of I 2 dx is
1+x
a) log(1+x)+c b) 2109(1+x)+c c) log(l—x)+c erc
z
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11.

12.
13.
14.

15.

16.
17.
18.

19.
20.

II.

21.

22.

23.
24.

25.
26.

27.

28.
29.

30.

31.

32.
33.

34.

For question numbers 11 to 15 choose the appropriate answer from the
answers given below
(8000, 2,9, 12, 5)

If "C, ="C, then the value of n is

If5:20 =3 :xthenx = .
The stock can be purchased by investing ¥ 9,600, 13.5% stock at 120 is ¥ )
Rohith paid ¥ 60 as a sales tax on titan watch worth ¥ 1,200 then the rate of sales tax is
%.
. sindx
The value of lim =
x>0 sin 2X
Symbolize “If oxygen is a gas then gold is a compound”.
Find the present value of ¥ 750 due 4 months hence at 15% p.a.

Write the learning curve equation.

Find the length of latus rectum of the parabola y* = -16x.

48
The average cost of a firm is given by 5+ — + 3x?* then find the total cost where x is number

X
of articles.
Part - B
Answer any NINE of the following questions. 9x2=18
3
If A={2|, B=[1 4 2]find ABand BA.
1

Find the number of parallelograms that can be formed from a set of 6 parallel lines intersecting
another set of 4 parallel lines.

If P(B) :% find P(ANB) :% then find P(A/B).

If the truth value of the proposition p, q, r are T, T, F respectively then find the truth value of
p<(qar).
Divide ¥ 6,000 in the ratio 3 : 4 : 5.
For ¥ 512.5 due 6 months at 15% p.a. find the true present worth.
2tan A
1+tan®A "’
Find the value of cos15°.
Find the equation of the circle whose ends of the diameters are given by (3, 4) and (4, 5)
k+x if x=1

Find ‘K’ if the function f(x)= {4 3 i xml is continuous at x = 1.
x+3 if x

yz\/logx\/logx+q/logx+ ..... =o prove that dy_ 1

dx  x (Zy - 1)
If s =5t*+4t—8 find initial velocity and acceleration.

eX
dx.

Prove that sin2A =

Evaluatej T 1
e —

4
Evaluate J- cosec?x dx.

T

4
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Part - C
III. Answer any NINE of the following questions. 9 x3 =127
2 3 -1 5
35. IfA :{_4 1} and B= [ 6 2} show that (AB)1 =B'A'.
1 a a°
36. Provethat|l b b’|=(a-b)(b-c)(c—a)(a+b+c).
1 ¢c ¢
37. Find the number of permutations of the letters of the word ENGINEERING. How many of these
a)  begin with E and end with E.
b) have all the 3 E’s together.
c)  begin with GIN and end with GRIN.
38. The probability that a doctor gets job in army is % and the probability that he will not get a job

in navy is % If the probability of getting atleast one job is % . What is the probability that he will

get both jobs.
39. Four numbers are in proportion. The sum of the extremes is 54 and the sum of the means is 36.

If the ratio of their means is 2 : 1. Find the numbers.
40. Banker’s gain on a bill due after 6 months at 4% p.a. is ¥ 24. Find TD, BD, bill amount and

discounted value of the bill.
41. What is the market value of 6% stock if it earns an interest of 4.5% after deducting the income

tax of 4%.
42. Ayush buys ¥ 10,000 stock at 96 and sells when its price rises to ¥ 102. Find the gain.
43. Find the equation of the tangents to the circle x* + y* + 2x + 4y —4 = 0 which are parallel to the

line 5x+12y+6=0.

t : dy
44. If x =a| cost+logtan 5| V= [asint]. Show that i tant.
X
45. Find the maximum and minimum of the function f(x)=x®-12x* +36x -4 .
46. The cost C of manufacturing an article is given by C =5+ 18 +3q?. Find the number of article
q

produced at the minimum cost and also find the minimum cost.

47. Evaluate I x-e?*dx.
X
48. Evaluate |———dx.
vt J g™
Part-D
IV. Answer any FIVE of the following questions. 5x5=25
49. Solve 3x—-y+2z=13, 2x+y—-z=3, x+ 3y —5z = -8 by matrix method
10
50. Find the term independent of x in the expansion of (\/; + 31—2) )
X

51. Examine whether p <> q and [(p —>q)r(q— p)] are logically equivalent.
z
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52. Resolve % into partial fractions.
(x + 1) (x + 2)

53. If 2 men and 4 women can do a work in 33 days and 3 men and 5 women can do the same
work in 24 days. In how many days can 5 men and 2 women do the same work.

54. xyz company supplies water tankers to the government. The first water tanker takes 20,000
labour hours. The government auditors suggest that there should be 80% learning effect rate.
The management expects an order of 8 water tankers in the year, what will be the labour cost
the company will incur at the rate of ¥ 20 per hour?

55. Minimize, z = 60x + 15y
subject to the constraints
x+y<50, 3x+y<90, x>0, y>0.

56. Prove that cos20° - cos40° - cos60° - cos80° = %

57. If e’ :sin(x+y) prove that d_y: cos(x+y) .
dx e’ —cos(x+y)

58. Find the area of the region between the parabolas y* = x and the line x+y=2.

Part - E
Answer the following questions. 1x10=10
59. Show that the following points (2, —4), (0, 0), (3, -1) and (3, -3) are concyclic. [6]
OR
Prove that lim>—2 — na™! where n is a rational number. [6]

X—a X f— a
60. Two towers of height 14m and 25m stand on a level ground the angle of elevation of there
tops from a point on the line joining their feet are 45° and 60° respectively find the distance

between the towers. (4]
OR
Find the value of (1.2)° using Binomial theorem upto 4 places of decimals. [4]
oS P oS W aR B
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Computer Science

Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 70

Part - A
Answer ALL the following. Each question carries one mark.
I.  Select the correct answer from the choices given: (Repeated answers will not

be considered). 15x1=15
1. Which of the following is not an example for [/O port?
a) USB b) Modem c) PCI d) Serial port
2. Canonical Sum of Product expression represented using symbol
a) $ b) c) & d >
3. Standard symbol for XNOR gate is
a) @ b) O c) * d !
4.  Data type of array subscript is
a) float b) double c) int d) char
5. operator used to access members of a class
a) b) ; c . d “
6. Inline function may not work if function is
a) Two long b) recursive
c) have switch or looping d) All the above
7.  Constructor used to copy one object to another object is
a) default b) Parameterised c) copy d) None
8.  If visibility mode is not specified then by default the visibility mode is
a) public b) protected c) private d) None of the above
9.  Pointers pointing to object of a class called
a) objectpointer b) double pointers c¢) class pointers d) none
10. Applications software used to create, update, access and manage data structure is
a) DBMS b) database c) file d) folder
11. operator used to search every row of a specified table for uniqueness
a) BETWEEN b) AND c) UNIQUE d) EXISTS
12. Which of the following is an example for full duplex communication mode?
a) Radio b) Walkie-Talkie
c) Modern Telephone System d) Al
13. is an attempt to exploit a computer system or private network
a) hacking b) wvirus c) crackers d) None
14. is an internet service which provides transparent window between user computer and
distinct host system
a) DOMAIN b) Web browser c) Web site d) Telnet
15. Guru.com is an example for
a) B2B b) B2C c) C2B d) C2C
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16.
17.
18.
19.
20.

III.
21.
22.
23.
24.
25.
26.
27.
28.

IV.
29.
30.
31.
32.
33.
34.
35.
36.

37.

38.
39.
40.
41.
42.
43.
44.
45.
46.
47.

Fill in the blanks choosing the appropriate word/words from those given in brackets.
(Repeated answers will not be considered) 5x1=5
[Record, Data integrity, Primary key, Database, File]
Collection of records is called

is a collection of interrelated data.
Correctness of data is called as )

is the uniquely identify each record in a table.

Tuples is also called as

Part - B

Answer any FOUR questions. Each question carries two marks. 2x4=8
Prove X+XY=X.

Define minterm and maxterm.

Define base class and derived class.

Mention the features of parameterised constructor.

Which are the functions included in ofstream?

Write an advantage and disadvantage of ISAM?

Differentiate between DELETE and DROP commands in SQL.

List different communication modes.

Part - C
Answer any FOUR questions. Each question carries three marks. 3 x4=12
What is port? Explain serial port.
Write the logic diagram and the truth table for NAND gate.
Write an algorithm for POP operation in stack.
What is dynamic memory allocation? Explain.
Give the function of a) seekg () b)tellg() c)put()
Explain different components of E-R diagram.

Define E-Commerce. Write its services.
Give the features of DHTML.

Part - D
Answer any SIX questions. Each question carries five marks 5x6 =30
Give the Boolean function F(A,B,C,D)=3(0,2,4,6,8,9,10,11,12,14). Reduce it by using K-

map.
Write an algorithm to delete an element from an array.

Define Queue. Explain different types of queues?

Write the applications of OOP.

Write the difference between member function defined inside and outside the class definition.
Explain friend function with an programming example.

Explain parameterized constructor with syntax and example

Explain virtual base class with syntax and example.

Explain network model and relational model.

Explain INSERT and SELECT command with syntax and example.

Explain different protection methods used in networks.

/7 /7 J/
LSRN GIXL S IXL )
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Computer Science

Model Paper — 2

Time: 3 hours 15 mins Maximum Marks: 70

Part - A
Answer ALL the following. Each question carries one mark.

I.  Select the correct answer from the choices given: (Repeated answers will not
be considered). 15 x1=15
1.  Which port facilitates parallel transfer of data one byte at a time?
a) Serial Port b) Parallel Port c) Ethernet Port d) Universal Serial Port
2.  The fundamental laws of the Boolean Algebra are called as
a) Postulates b) Principles c¢) Theorems d) None of the above
3. The following gates are called universal gates
a) XOR& XNOR b) NAND & NOR ¢) AND & OR d) XOR & OR
4. A specialized format for organizing and storing data is called
a) Queue b) Stack c) Linked List d) Data Structure
5. access means that members can be accessed by any function outside the class also.
a) Public b) Private c) Protected d) None of the above
6. Two or more functions having same name, but differ in the number of arguments or datatype of
arguments is called
a) Inline function b) friend function «¢) calling function d) function overloading
7. A constructor which does not accept any arguments is called
a) copy constructor b) parameterized constructor
c) zero argument constructor d) None
8. The controls the access specifier to be for inheritable member of base class in the derived
class.
a) access specifier b) visibility mode c) inheritance d) polymorphism
9. In allocation the amount of memory to be allocated is predicted and pre-known.
a) new b) delete ¢) dynamic d) none of the above
10. is a basic unit of storage in computer system.
a) database b) table c) file d) tuple
11. operator check if the values of two operands are equal or not.
a) = b) != c) <> d <=
12. which networking device connects two similar networks?
a) Router b) Bridge c¢) Gateway d) Repeater
13.  The actual appearance of layout of networking is called
a) Topology b) Internet ¢) Intranet d) Interspace
14. is the software that is neither open nor freely available.
a) Open source software b) Free software
c) Free ware d) Proprietary software
15. is a mark-up language for documents containing structured information.
a) HTML b) XML c) DHTML d) None of the above
=
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16.
17.
18.
19.
20.

21.
22.
23.
24.
25.
26.
27.
28.

IV.

29.
30.
31.
32.
33.
34.
35.
36.

38.
39.
40.
41.
42.
43.
44.
45.
46.
47.

Fill in the blanks choosing the appropriate word/words from those given in brackets.
(Repeated answers will not be considered) 5x1=5
[Attribute, Data, Super key, Record, data model]

is the collection of facts, figures, statistics.
A single entry in a table is called .

is an abstract model that describes how the data is represented and used.

An__describes a property or characteristic of an entity.

is all sets of columns for which no two rows share the same values for those sets.

Part - B

Answer any FOUR questions. Each question carries two marks. 2x4=8

Prove X-Y=X+Y using truth table.

State and prove involution law.

Mention any two advantages of OOP over earlier programming methods.
Give any two features of copy constructor.

Mention different types of data files.

Write any two applications of database.

Give the syntax and example for CREATE table command in SQL.
Name any two web browsers.

Part - C

Answer any FOUR questions. Each question carries three marks. 3 x4=12

What is a bus? List different types of bus.

Realize the basic gates using NAND only.

Write an algorithm for linear search in arrays.

Mention any three operations that can be performed on pointers.
Explain three modes of opening a file.

Define hub. Explain different types of hub.

Define a) webpage b) web server c) website
Explain different table elements used in HTML.

Part - D
Answer any SIX questions. Each question carries five marks 5x6=30
Given the Boolean function F(A,B,C,D)=3(1,3,4,5,6,7,9,11,12,13,14,15). Reduce
it by using Karnaugh Map.
What is a Stack? Explain various operations performed on Stack.
Write an algorithm for insertion sorting.
Explain various concepts of OOPs?
Explain defining of a class with syntax and programming example.
What is function overloading? What is the need for function overloading?
Write the difference between constructor and destructor?
Explain the advantages of inheritance?
Explain the stages of data processing cycle.
Explain single row functions of SQL.
Explain the following

i)  Circuit switching ii) Packet Switching iii. Simplex Communication
iv.  Half Duplex Communication v. Full Duplex Communication
oS % 0B % 0B oS
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History

Model Paper - 1

Time: 3 hours 15 mins Maximum Marks: 100

Instructions:
1. Write SI. Nos. of the questions correctly.

2. Visually challenged students need to answer question No. 45 ‘B’ instead of Map Question No. 45 ‘A’ in
Part-E.

3. Answer the questions according to the instructions given for the questions.

Part - A

I. Choose and write the Correct Answer from the given: 10 x1 =10
1.  Epigraphy means

a) Study of Coins b) Study of metals

c) Study of Inscriptions d) Study of Indian History
2.  ‘Kshetra ‘ means --------------

a) Green Pasture b) Desert c¢) Play Ground d) Cultivated land
3. Gouthama Siddhartha got enlightenment at,

a) Ghorakhpura b) Sulthanpura c¢) Gaya d) Pavapuri
4.  Thole Inscription was composed by,

a) Surya Keerthi b) Ravikeerthi c) Harisena d) Kumaravyasa

5.  Famous Revenue minister of Akbar was,
a) Raja Todarmal b) Raja Jaising c¢) Raja Bagavandas d) BairamKhan
6. Coronation Ceremony of Shivaji was held at

a) Prathapaghada b) Simhaghada c) Pavagada d) Devaghada
7.  The Philosophy of Shankaracharya,
a) Dwitha b) Visistadvaitha c) Advaiha d) Shakthi Visistadvaitha
8.  The Fourth Anglo Mysore war was ended with the treaty of
a) Treaty of Madras b) Treaty of Manga lore
c) Treaty of Srirangapattana d) Treaty of Purandara
9.  Arya Samaj was Established by
a) Swamy Vivekananda b) Raja Ram Mohan Roy
c) Annie Besant d) Swamy Dayananda Saraswathi
10. First Chief Minister of the Unification of Karnataka
a) Kengal Hanumanthaiah b) S.Nijalingappa
c¢) S.M Krishna d) J.H Patel
II. Fill in the blanks with appropriate answers given below: 5x1=5

[Belagavi , Madarasa, Noble, Perambadur, Swamy Vivekakananda]
11. Meaning of the word Arya is

12. was built by Mohamed Gawan
13. Ramanujacharya was born at
14. Established Vedantha Samaja

15. The only session of Indian National Congress which presided by Gandhiji was
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I11.
16.

IV.

17.
18.
19.
20.
21.

22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.

VI

34.
35.
36.
37.
38.
39.

Match the following. 5x1=5
A B

1.  Simukha a. Kushanas

2.  Gandhara Art b.  Sufi Saint

3. Krishnadevaraya c.  English Education

4.  Shiek Moinuddhin d. Shathavahana Ruler

5. Lord Mecauly e. Jambavathi Kalyana

Part - B

Answer the following questions in one word or one sentence each:
5x1=5

Who was the first ruler of the Kushanas.

Which was the capital of Rastrakutas?

Who is called ‘Jagadguru Badshah?

Who introduced the permanent revenue settlement?
Expand INA.

Answer any TEN of the following questions in 2 words or 2 sentences each:
10 x 2 =20

Who discovered Harappa and Mohenjadharo?

Name any two Ashramas of Vedic period.

Name any two titles of Pulikeshi II?

Who built the Kailasanatha temple? Where was it built?

Why did Alla-ud-din Khilji call himself as ‘Sikandar’?

Name any two famous musicians of Mughal period?

Which were the two important taxes collected by Shivaji?

Which is the first kannada Drama and who is its author?

Name any two trading centers of Portuguese in India.

Name any two Indian states which accepted Subsidiary Alliance.

What was the opinion of Macaulay regarding the Eastern literature?

Who founded the Swaraj Party?

Part - C

Answer any FOUR of the following questions in 15 to 20 sentences each:
4 x5=20

‘Unity in Diversity’ is the unique feature of Indian history. Explain.
Explain the town planning of Indus Valley Civilization.
Describe the Village administration of the Cholas.
Describe the achievements of Vishnuvardhana.
Explain the life and teachings of Ramanujacharya.
Explain the role of Karnataka in the Indian National Movement.
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Part - D
VII. Answer any TWO of the following questions in 30 to 40 sentences each:
2x10=20
40. Sketch the life and teachings of Buddha.
4]1. Describe the achievements of Alla-uddin Khilji.
42. Describe the Religion, Literature and Art and Architecture of the Vijayanagara Period.
43. Explain the causes and results of the first war of Indian Independence.

Part - E
VIII.Arrange the following events in Chronological order: 5x1=5
44. a) Introduction of English Education

b)  Ampghavarsha came to power
c) Battle of Kalinga

d) Mysore named as Karnataka
e) Treaty of Purandara
IX. Answer the following questions as indicated: 54+45=10

45. (A) Mark any FIVE of the following Historical Places on the outline map of India provided to
you and add an explanatory note on each place in two sentences.

a) Halebeedu b) Pataliputra c¢) Devagiri d) Panipat
e) Dandi f) Srirangapattana i) Hampi j)  Kanchi.

FOR VISUALLY CHALLENGED STUDENTS ONLY

Answer the following question in 30 to 40 sentences: 1x10=10
45. (B) Why is Guptha age called ‘The Golden Age’ in Indian History?
OR

Sir M. Vishweshwaraiah is called the ‘Maker of Modern Mysore’ Explain.
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History

Model Paper — 2

Time: 3 hours 15 mins Maximum Marks: 100

Instructions:
1. Write SI. Nos. of the questions correctly.

2. Visually challenged students need to answer question No. 45 ‘B’ instead of Map Question No. 45 ‘A’ in
Part-E.

3. Answer the questions according to the instructions given for the questions.

Part - A
I. Choose and write the Correct Answer from the given: 10 x1 =10
1. The author of Buddhacharitha was,
a) Ashwagosha b) Aravinda Gosha
c) Amalanada Gosha d) Amaranath Gosha
2.  The ceremony performed to send the child to school was,
a) Dwinayana b) Upanayana c) Trinayana d) None of these
3.  The original name of Mahavira was,
a) Siddharth b) Gouthama c) Vardhamana d) Jamali
4. Harsha was known as,
a) Pulikeshi Il b) Ashoka c¢) Vishnuvardhana d) Uttarapatheshwara
5.  The battle of Haldighat fought between,
a) Babar and Ibrahim Loodi b) Akbar and Hemu
c¢) Ashoka and Kharavela d) Shivaji and Jaisingh
6. Ramananda was born at
a) Prayaga b) Kanuj c) Dehli d) Jaipura
7. ‘Go back to the Vedas’ this call was given by
a) Raja Ram Mohan Roy b) Kabir
c) Gurunanak d) Swamy Dayananda
8.  The first capital of the British in India was
a) Madras b) Hyderbad c¢) Culcutta d) Bombay
9.  Conference of world religions was held at
a) Newyork b) Paris c) Bangalore d) Chicago
10. The person who persuaded the princely states to join the Indian Union was,
a) Jawahar Lal Nehru b) Vallabha Bai Patel
c) Mahathma Gandhiji d) Nijalingappa
II. Fill in the blanks with appropriate answers given below: 5x1=5
[Basaveshwara, Mohammed Gawan, Alur Venkat Rao, Annie Besant, Cattle]
11. was considered as wealth by the Aryans.
12. Madarasa was built by
13. was born at Bagevadi

14. Theosophical society was established by
15. was known as Karnatakada Kesari.
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III. Match the following. 5x1=5
16. A B

1. Hala a. Varadambika Parinayam

2. Kushanas b. Sharada Peeta

3. Thirumalamba c.  Western Education

4.  Shankaracharya d Gathasapthashathi

5. Lord William Bentink e Yue-chi tribe

Part - B

IV. Answer the following questions in one word or one sentence each:

17. Who was the famous ruler of Kushanas?

18. Who had the title ‘Ubhaya Kavichakravarthi’?

19. Which is the biggest mosque in south India?

20. Which was the book written by Dadabai Navaroji?
21. Who was famous as ‘Karnatakada Kesari’?

V. Answer any TEN of the following questions in 2 words or 2 sentences each:

10 x 2 =20
22. Name any two exports of Indus Valley civilization.
23. Name any two Varnas of Vedic period.
24. Name any two literary works of Harshavardhana.
25. Name any two titles of Govinda III.
26. Give any two causes for the transfer of capital.
27. When and where was Akbar born?
28. Who were the parents of Shivaji.
29. Who wrote Hadibadeya dharma and which king encouraged her?
30. Name any two trading centers of French in India.
31. Name any two Indian states which accepted Doctrine of Lapse.
32. What was Roytwari system.
33. Who signed Poona pact?
Part - C
VI. Answer any FOUR of the following questions in 15 to 20 sentences each:
4 x5=20

34. Explain the accounts of foreign traveller in reconstructing the history of India.
35. Explain the town planning of Indus Valley Civilization.

36. Describe the achievements of Rajendra Chola.

37. Explain the cultural contributions of later Chalukyas.

38. Explain the life and teachings of Basaveshwara

39. What are the factors responsible for the growth of Nationalism.
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Part - D
VII. Answer any TWO of the following questions in 30 to 40 sentences each:
2 x10 =20
40. Why is Guptha age called ‘The Golden Age ‘ in Indian History.
41. Describe the achievements of Alla-uddin Khilji.
42. Explain the achievements of Krishnadevaraya
43. Sir M.Vishweshwaraiah is called the ‘Maker of Modern Mysore’ Explain.
Part - E
VIII.Arrange the following events in Chronological order: 5x1=5
44. Arrange the following events in Chronological order:
a) Introduction of Zamindari sytem.
b)  Establishment of Rastrakuta dynasty.
c)  Chandragupta mourya performed sallekhana vratha.
d) Instrument of Accession.
e)  Coronation of Shivaji.
IX. Answer the following questions as indicated: 5+5=10

45. (A) Mark any FIVE of the following Historical Places on the outline map of India provided to
you and add an explanatory note on each place in two sentences.

a) Halebeedu b) dJalian Walabagh c¢) Bijapura d) Harappa
e) Agra f) Devagiri g) Badami h) Pataliputra
i) Culcutta

FOR VISUALLY CHALLENGED STUDENTS ONLY

Answer the following question in 30 to 40 sentences: 1x10=10
45. (B) Sketch the life and teachings of Buddha.
OR

Explain the causes and results of the first war of Indian Independence.
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